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TNPSC GROUP I – TEST BATCH 2022 
TEST XV – UNIT VI INDIAN ECONOMY 

 
1. Objective of Fiscal policy  

i. Full Employment  ii. Price Stability   iii. Economic Growth  
 iv. Capital Formation  v. Channelising Funds  

a. i, ii, iii, iv    b. i , ii , iii   c. i, iii,iv    
d. All the above   e. Answer not known      
epjpf;nfhs;ifapd; Nehf;fq;fshtd: 
i. KO Ntiytha;g;G ii. gz epiyj;jd;ik iii. nghUshjhu tsh;r;rp 

 iv. KjyPl;L cUthf;fk; v. epjpfis KiwgLj;Jjy; 
a. i, ii, iii, iv    b. i , ii , iii   c. i, iii,iv    
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
2. NABARD setup in July 1982 to  

i. Support credit institutions in Implementation of rural development programs 
ii. Provide long term loans for promoting industries  
iii. Credit to Agriculture, Small scale industries, cottage and village industries 
iv. Long term loans to state government to subscribe to shares of cooperative credit 

society 
v. Inspect RRB’s and Cooperative banks 
a. ii, iv    b. i, ii, iii   c. i, iii, iv, v    
d. All the above       e. Answer not known      
[{iy 1982Mk; Mz;L eghh;L cUthf;fgl;ljd; Nehf;fkhdJ 
i. Cuf tsh;r;rp jpl;lq;fis nray;gLj;Jtjpy; fld; toq;Fk; epWtdq;fSf;F 

Mjuthf 
ii. njhopy;fis Nkk;gLj;j ePz;lfhy fld;fis toq;Fjy; 
iii. Ntshz;ik> rpWnjhopy;fs;> Fbir kw;Wk; fpuhkj; njhopy;fSf;fhd fld; 
iv. $l;LwT fld; toq;Fk; rq;fq;fspd; gq;F KjyPl;il toq;Fk; nghUl;L khepy 

muRfSf;F ePz;lfhy fld;fis toq;FfpwJ 
v. tl;lhu Cuf tq;fpfs; kw;Wk; $l;LwT tq;fpfis Ma;T nra;fpwJ 
a. ii, iv    b. i, ii, iii   c. i, iii, iv, v    
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

3. GDP – Match the following  
A. NDP   1. c+i+g+(x-m) 
B. GDP   2. GNP – Depreciation  
C. GNP   3. GDP – Depreciation  
D. NNP   4. c+i+g+(x-m) + (r-p) 
 A B C D 
a. 1 2 3 4 
b. 3 4 1 2 
c. 3 1 4 2 
d. 3 2 1 4 
e. Answer unknown 
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GDP – nghUj;Jf 
A. NDP  1. c + i + g + (x – m) 
B. GDP  2. GNP – Nja;khdk; 
C. GNP  3. GDP – Nja;khdk; 
D. NNP  4. c+i+g+(x-m) + (r-p) 
 A B C D 
a. 1 2 3 4 
b. 3 4 1 2 
c. 3 1 4 2 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

4. Self-help groups are 
i. Holistic program for rural poor women – Capacity building, activity clusters, self-

employment  
ii. Informal voluntary association of poor people 
iii. Industries run by rural people in rural areas  
iv. Only one member from one family  
a. i, ii, iii, iv     b. i, ii, iv   c. ii, iii, iv    
d. i, ii       e. Answer not known      
Ra cjtpf;FOf;fs; vd;gJ 
i. fpuhkg;Gw ngz;fSf;fhd KOikahd jpl;lk; - jpwd; Nkk;ghL> nray;ghl;Lf; 

FOf;fs;> Ra Ntiytha;g;G 
ii. Vio kf;fspd; Kiwrhuh jd;dhh;t rq;fk; 
iii. Cuf gFjpfspy; Cuf kf;fshy; elj;jg;gLk; njhopw;rhiyfs; 
iv. xU FLk;gj;jpy; ,Ue;J xU cWg;gpdh; kl;Lk; 
a. i, ii, iii, iv     b. i, ii, iv   c. ii, iii, iv    
d. i, ii       e. tpil njhpatpy;iy 

 
5. Consider the following statements about MUDRA 

1. MUDRA’s aim of funding the unfunded non-corporate entities  
2. Regulate the lender and borrower of Microfinance  
a. 1 and 2 are correct, but 2 does not explain 1  
b. 2 is wrong and 1 is correct 
c. 1 is wrong and 2 is correct  
d. Both 1 and 2 are correct and 2 explains 1  
e. Answer not known  
Kj;uh gw;wpa gpd;tUk; $w;Wfis Ma;f 
1. Kj;uhtpd; Nehf;fk; epjpapy;yhj fhh;g;gNul; my;yhj epWtdq;fSf;F epjpaspg;gjhFk;. 
2. FWepjp fld; toq;Fgth; kw;Wk; fld; ngWgtiu xOq;FgLj;Jjy; 
a. 1 kw;Wk; 2 rhp> Mdhy; 2 $w;W 1 I tpsf;ftpy;iy 
b. 2 jtW 1 rhp 
c. 1 jtW 2 rhp 
d. 1 kw;Wk; 2 rhp kw;Wk; 2 $w;w 1 I tpsf;FfpwJ 
e. tpil njhpatpy;iy 

 

6. Disposable income is  
a. Amount available for house consumption 
b. Buying power of Nominal incomes 
c. Total income received from all sources before payment of taxes 
d. Average income of a person  
e. Answer not known   
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nrytplf;$ba tUkhdk; vd;gJ 
a. jdpegh;fs; Efh;Tf;fhd nrytplf;$ba gz msthFk;. 
b. ngausT tUkhdj;jpd; thq;Fk; rf;jp 
c. thp nrYj;Jtjw;F Kd; midj;J %yq;fspypUe;Jk; ngwg;gl;l nkhj;j tUkhdk; 
d. xUthpd; ruhrhp tUkhdk; 
e. tpil njhpatpy;iy 
 

7. Choose the correct statements regarding National food security act  
i. Passed by Parliament in 2012 
ii. Covers 50% urban households and 75% rural households 
iii. Tamilnadu continues universal PDS  
a. i, ii   b. i, ii, iii c. ii, iii   d. ii only  e. Answer not known      

 Njrpa czT ghJfhg;G rl;lk; njhlh;ghd rhpahd $w;Wfis fhz;f 
i. 2012 Mk; Mz;L ghuhSkd;wj;jhy; epiwNtw;wg;gl;lJ 
ii. 50 rjtPj efh;g;Gw FLk;gq;fs; kw;Wk; 75 rjtPj fpuhkg;Gw FLk;gq;fis 

cs;slf;fpaJ 
iii. jkpo;ehL cyfshtpa nghJ tpepNahfj; jpl;lj;ij njhlh;fpwJ. 
a. i, ii   b. i, ii, iii c. ii, iii   d. ii only  e. tpil njhpatpy;iy 
 

8. Five year plans – Match the following  
A. First year plan  1. Mahalnobis model  
B. Second year plan      2. Garibo Hatao  
C. Third year plan   3. Gadgil Yojana 
D. Fifth year plan   4. Harrod domar model 
 A B C D 
a. 3 2 1 4 
b. 4 1 2 3 
c. 1 2 3 4 
d.  4 1 3 2 
e. Answer not known 

 Ie;jhz;L jpl;lq;fs; - nghUj;Jf 
 A. Kjy; Ie;jhz;L jpl;lk;  1. k`yNehgp]; khjphp 
 B. ,uz;lhk; Ie;jhz;L jpl;lk; 2. fhPgp `l;lhNth 
 C. %d;whk; Ie;jhz;L jpl;lk; 3. fhl;fpy; jpl;lk; 
 D. Ie;jhk; Ie;jhz;L jpl;lk; 4. `h;uhL Nlhkh; khjphp 

 A B C D 
a. 3 2 1 4 
b. 4 1 2 3 
c. 1 2 3 4 
d.  4 1 3 2 
e. tpil njhpatpy;iy 

 
9. Nationalisation of Banks – Objectives 

i. To attain social welfare 
ii. Supply of credit to desirable sections 
iii. Encourage banking among urban and industrial towns 
a. i, ii   b. i, ii, iii c. ii, iii   d. i, iii  e. Answer not known    

 tq;fpfs; Njrpakakhf;fg;gl;ljd; Nehf;fq;fs; 
i. r%f eyk; miljy; 
ii. tpUk;gj;jf;f gphpTfSf;F fld; toq;Fjy; 
iii. efh;g;Gw kw;Wk; njhopy;Jiw efuq;fspy; tq;fpfis Cf;Ftpj;jy; 
a. i, ii   b. i, ii, iii c. ii, iii   d. i, iii  e. tpil njhpatpy;iy 
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10. Choose the correct statements regarding National Rural Health Mission  
i. To Provide accessible affordable healthcare for rural 
ii. Appropriate technologies to assist in lending, borrowing and monitoring 
iii. Launched in April 2005 
a. i, ii    b. i, ii, iii   c. ii, iii    
d. i, iii    e. Answer not known      

 Njrpa Cuf eyj;jpl;lk; gw;wpa rhpahd $w;Wfis fz;lwpf 
i. fpuhkg;Gw kf;fSf;F kypt tpiyapy; kUj;Jt Nritfis toq;Fjy; 
ii. fld; toq;Fjy;> ngWjy; kw;Wk; fz;fhzpg;G Mfpatw;wpy; cjTtjw;fhd 

njhopy;El;gq;fs; 
iii. Vg;uy; 2005,y; Njhw;Wtpf;fg;gl;lJ. 
a. i, ii    b. i, ii, iii   c. ii, iii    
d. i, iii    e. tpil njhpatpy;iy 
 

11. Gross Value Add (GVA) is 
a. Measure of value of goods and services produced in an area or industry  
b. Measure of goods value within the country  
c. GVA = Output + Intermediate Consumption  
d. Measure of value added through imports and exports  
e. Answer not known  
nkhj;j kjpg;G $l;ly; vd;gJ 
a. xU gFjp my;yJ njhopypy; cw;gj;jp nra;ag;gLk; nghUl;fs; kw;Wk; Nritfspd; 

kjpg;ig mstpLjy; 
b. ehl;bw;Fs; nghUl;fspd; kjpg;ig mstpLjy; 
c. GVA – cw;gj;jpapd; kjpg;G + ,ilepiy Efh;T 
d. ,wf;Fkjp kw;Wk; Vw;Wkjp %yk; Nrh;f;fg;gl;l kjpg;G $l;ly; mstPL 
e. tpil njhpatpy;iy 

 
12. Problems of Rural economy: 

a. High public sector investments 
b. Industries in rural areas and employment opportunities  
c. Self-sufficient and self-development villages  
d. Illiteracy, lack of technical know-how, low income, political interferences 
e. Answer not known  
Cuf nghUshjhuj;jpd; gpur;ridfshtd: 
a. nghJj;Jiw epWtdq;fspd; cah; KjyPL 
b. Cuf gFjpfspy; njhopw;rhiyfs; kw;Wk; Ntiytha;g;Gfs; 
c. jd;dpiwT kw;Wk; Ra Nkk;ghl;L fpuhkq;fs; 
d. vOj;jwptpd;ik> njhopy;El;g mwptpd;ik> Fiwe;j tUkhdk;> murpay; jiyaPL 
e. tpil njhpatpy;iy 

 
13. Observation of 15th Finance Commission includes 

i. High learning outcomes and weak literacy rates 
ii. Increasing growth rate of Tax revenue 
iii. GSDP shifting from Agriculture to Industries / Services 
a. ii only   b. iii only   c. i, ii    d. All of these       e Answer not known 

 15tJ epjpf;FOtpd; ntspf;nfhzh;Tfshtd: 
i. cah; fw;wy; kw;Wk; gytPdkhd fy;tpawpT tPjk; 
ii. thp tUthapd; tsh;r;rp tPfpjk; mjpfhpf;Fk;  
iii. GSDP tptrhaj;jpypUe;J njhopy;fs; my;yJ NritfSf;F khWjy; 
a. ii kl;Lk; b. iii kl;Lk; c. i,ii  d. ,it midj;Jk;   d. tpil njhpatpy;iy 
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14. Green Revolution achievements 
i. Boost production of wheat and Rice 
ii. India became food surplus exporting food grains to European countries  
iii. Positive effect on Industries – manufacturing tools  
iv. Prosperity to Rural people 
a. i only   b. i, ii, iii  c. i, ii     d. i, iii  e. Answer not known 

 gRik Gul;rpapd; rhjidfshtd: 
i. NfhJik kw;Wk; mhprp cw;gj;jpia mjpfhpj;jJ 
ii. INuhg;gpa ehLfSf;F czT jhdpaq;fis Vw;Wkjp nra;Akstpw;F cghp 

cztpid cw;gj;jp nra;Ak; ehlhf ,e;jpah khwpaJ 
iii. njhopy;Jiwapy; Neh;kiwahd tpisT – cw;gj;jp fUtpfs;  
iv. fpuhkg;Gw kf;fspd; tho;thjhuk; nropj;jJ. 
a. i kl;Lk;   b. i, ii, iii  c. i, ii    d. i, iii  e. Answer not known 

 
15. ElcotSEZ – Choose the right pairs 

i. Chennai   - Sholingnallur 
ii. Coimbatore  - Illanthaikulam  
iii. Madurai   - Vilankuruchi 
iv. Tirunelveli  - Gangaikondan 
v. Trichy   - Jagirampalayam 
a. All the above b. i, ii, iii, iv c. i, ii, iii  d. i, iv  e. Answer not known 

 ElcotSEZ – rhpahd ,izfis fz;lwpf 
i. nrd;id  -  Nrhopq;fey;Y}h; 
ii. Nfhak;Gj;J}h; - ,ye;ijFsk; 
iii. kJiu  -  tpshq;Fwpr;rp 
iv. jpUney;Ntyp -  fq;ifnfhz;lhd; 
v. jpUr;rp  -  [fpuhk;ghisak; 
a. Nkw;$wpa midj;Jk; b. i, ii, iii, iv    c. i, ii, iii   
d. i, iv    e. tpil njhpatpy;iy  
 

16. Choose the correctly matched pairs 
i. Production Method - Value Added Method 
ii. Income Method - Outlay Method 
iii. Expenditure Method - Factor earning method  
a. i only   b. ii, iii c. i, ii, iii   d. none of these   e Answer not known 

 rhpahf nghUe;jpAs;s ,izfis Njh;f 
i. cw;gj;jp Kiw - kjpg;G $l;ly; Kiw 
ii. tUkhd Kiw – nryT Kiw 
iii. nrytpd Kiw – fhuzp tUtha; Kiw 
a. i kl;Lk;   b. ii, iii c. i, ii, iii   d. VJkpy;iy   e. tpil njhpatpy;iy 
 

17. Choose the correct pairs regarding Five-year plans  
i. Rolling Plan   - 1978-79 
ii. Plan holiday   - 1966-69 
iii. Annual Plans   - 1990-91 

a. i only   b. ii, iii c. i, ii, iii   d. none of these  e Answer not known 
 Ie;jhz;L jpl;lq;fs; gw;wp rhpahd ,izfis fhz;f 

i. Roy; jpl;lk;   - 1978-79 
ii. tpLKiw jpl;lk; - 1966-69 
iii. tUlhe;jpu jpl;lk;  - 1990-91 
a. i kl;Lk;   b. ii, iii c. i, ii, iii   d. VJkpy;iy  e. tpil njhpatpy;iy 
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18. Choose the correct statements 
i. Food Corporation of India  - Storage and Stock of Food grains 
ii. Minimum Support Price  - Assured price before selling to FCI 
iii. Issue Price    -   Lower than market price  
a. i only   b. ii, iii c. i, ii, iii   d. none of these  e. Answer not known 

 rhpahd $w;Wfis fz;lwpf 
i. ,e;jpa czTf;fofk; - czT jhdpaq;fspd; Nrkpg;G kw;Wk; ,Ug;G 
ii. Fiwe;jgl;r MjuT tpiy - ,e;jpa czT fofj;jpw;F tpw;Fk; Kd; cWjp  

  nra;ag;gl;l tpiy 
iii. toq;Fk; tpiy   – re;ij tpiyia tpl FiwT 
a. i kl;Lk;   b. ii, iii c. i, ii, iii   d. VJkpy;iy  e. tpil njhpatpy;iy 
 

19. Functions of NITI Aayog  
i. Implementation of policies and programs 
ii. Infusion of new policy and issue-based support  
iii. Implementation of Sustainable Development goals 
iv. Publishing HDI report since 1990  
a. i only   b. i, ii, iii, iv  c. i, ii, iii   d. i, iii, iv  e Answer not known 

 epjp MNahf;fpd; gzpfshtd: 
i. nfhs;iffs; kw;Wk; jpl;lq;fis nray;gLj;Jjy; 
ii. Gjpa nfhs;iffis Vw;gLj;jTk;> jdpg;gl;l gpur;ridfSf;fhd MjuitAk; jUk;. 
iii. ePbj;j epiyahd tsh;r;rp ,yf;Ffis nray;gLj;Jjy; 
iv. 1990Mk; Mz;bypUe;J kdpjd; Nkk;ghl;L FwpaPl;bid ntspapLjy; 
a. i kl;Lk;   b. i, ii, iii, iv  c. i, ii, iii   d. i, iii, iv  e. tpil njhpatpy;iy 
 

20. Monetary measures to control Inflation  
i. Reduction of government expenditure, public borrowing  
ii. Higher Repo Rate and Reverse Repo Rate 
iii. Increase in Bank Rate 
iv. Sales of Government securities in open market  
a. i, iii, iv  b. i, ii, iii c. i, ii, iii, iv   d. ii, iii, iv  e. Answer not known     

 gztPf;fj;ij fl;Lg;gLj;Jk; gztpay; Kiwfs; 
i. murpd; nrytPdq;fs;> nghJf;fld; thq;Fjiy Fiwj;jy; 
ii. kPs; thq;fy; tpfpjk; kw;Wk; jpUg;g kPs; thq;fy; tpfpjk; Mfpatw;wpid 

cah;j;Jjy; 
iii. tq;fp tPjj;ij cah;j;Jjy; 
iv. ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy; 
a. i, iii, iv  b. i, ii, iii c. i, ii, iii, iv   d. ii, iii, iv  e. tpil njhpatpy;iy 
 

21. Net National Product at factor cost is 
i. Payment made to factors of production  
ii. Deduct indirect taxes and addition of subsidies to Net National Product (market 

prices) 
iii. NNP (Factor Cost) = GNP – Indirect taxes + Subsidies  
a. i, iii   b. i, ii, iii c. ii, iii   d. i, ii   e. Answer not known 

 fhuzp nrytpy; epfu Njrpa cw;gj;jp vd;gJ 
i. cw;gj;jp fhuzpfSf;F toq;fg;gl;l nkhj;j tUkhd nrYj;Jjy; MFk;. 
ii. epfu Njrpa tUthia ngWtjw;F> re;ij tpiyapy; NNPapd; gz kjpg;gpypUe;J 

kiwKf thpia fopf;f Ntz;Lk;> NkYk; khdpaq;fis $l;l Ntz;Lk;. 
iii. NNP (fhuzp nryT) = GNP – kiwKf thpfs; + khdpaq;fs; 
a. i, iii   b. i, ii, iii c. ii, iii   d. i, ii   e.  
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22. Which of the following are true about Foreign Contribution Regulation Act (FCRA) 2010 
i. Regulates foreign funding of Persons in India 
ii. Limit of receiving money from relatives abroad is increased to 10 lakhs 
iii. Implemented / Regulated by Finance Ministry 
iv. Organizations are required to register once in every 5 years 
a. i, ii, iii, iv    b. i, ii   c.  iii, iv   d. i, ii, iv       e Answer not known 
ntspehl;L gq;fspg;G xOq;FKiwr; rl;lk; (FCRA) 2010 gw;wpa rhpahd $w;Wfis 
fz;lwpf 
i. ,e;jpahtpy; cs;s egh;fSf;F ntspehl;L epjpAjtpia xOq;FgLj;JfpwJ 
ii. ntspehLfspy; cs;s cwtpdh;fsplk; ,Ue;J gzk; ngWtjw;fhd tuk;G 10 

yl;rkhf cah;j;jg;gl;Ls;sJ 
iii. epjp mikr;rfj;jhy; nray; kw;Wk; xOq;FgLj;jg;gLfpwJ 
iv. epWtdq;fs; 5 Mz;LfSf;F xU Kiw gjpT nra;ag;glNtz;Lk; 
a. i, ii, iii, iv    b. i, ii   c.  iii, iv   d. i, ii, iv       e. tpil njhpatpy;iy 
 

23. Choose the correct statements regarding Non-Performing Assets (NPA’s) 
i. Loans or advances that are in arrears 
ii. Gross Non – Performing Assets (GNPA) fell to 5.9% in March 2022 
iii. Advance for principal or interest is overdue for a period of 90 days 
iv. Loans paid on regular basis   
a. i, ii, iii  b. i, ii, iv c. iii, iv   d. All the above  e. Answer not known      

 nray;glhj nrhj;J gw;wpa rhpahd $w;Wfis fz;lwpf 
i. fld;fs; my;yJ Kd;gzq;fs; epYitapy; cs;sij Fwpf;fpwJ 
ii. khh;r; 2022,y; nray;glhj nrhj;Jfspd; rjtPjk; 5.9% Mf Fiwe;jJ. 
iii. fld;thq;Fgth; njhlh;e;J 90 ehl;fs; tl;bNah my;yJ fld;njhifapd; 

gFjpiaNah nrYj;jhky; ,Uj;jy;. 
iv. tof;fkhd Kiwapy; fld; toq;fg;gLfpwJ 
a. i, ii, iii  b. i, ii, iv c. iii, iv   d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

24. Per capita income is 
a. Total Income after payment of income tax 
b. Average income of a person obtained by dividing National incomes by Population 
c. Total income received by an individual from all sources  
d. Buying power of Nominal Income 
e. Answer not known  
jdpegh; tUkhdk; vd;gJ 
a. tUkhd thp nrYj;jpa gpd; cs;s nkhj;j tUkhdk; 
b. Njrpa tUkhdj;ij kf;fs;njhifahy; tFg;gjd; %yk; xU eghpd; ruhrhp 

tUkhdj;ij mwpayhk;. 
c. midj;J %yq;fspypUe;Jk; ngwg;gLk; xU jdpeghpd; tUkhdk; 
d. ngausT tUkhdj;ij nfhz;L thq;Fk; rf;jp 
e. tpil njhpatpy;iy 

 

25. Characteristics of Industrial Cluster 
i. Geographical proximity of SME  ii. Sector Specialisation  
iii. Close interfirm collaboration    
iv. Supportive regional and municipal government 
a. i, ii, iii,  b. i, ii, iii, iv  c. i, iii, iv   d. ii, iii, iv  e. Answer not known      

 njhopy; njhFg;Gfspd; gz;Gfshtd: 
i. rpW kw;Wk; eLj;ju epWtdq;fspd; Gtpapay; gFjpfSf;F mUfhikapy; ,Uj;jy; 
ii. Jiw rhh;e;j rpwg;G ftdk; 
iii. epWtdq;fSf;F ,ilNa neUf;fkhd my;yJ gu];gu Kiwapy; ,ize;jpUj;jy; 
iv. tl;lhu kw;Wk; efuhl;rpfSf;F murpd; MjuT 
a. i, ii, iii,  b. i, ii, iii, iv  c. i, iii, iv   d. ii, iii, iv  e. tpil njhpatpy;iy 
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26. Find the value of x from the following equal ratio’s 
11: x :: 6: 66 
a. 6   b. 11    c. 112 

d. 62   e. Answer not known 
11: x :: 6 : 66 vd;w tpfpj rkj;jpy; x-d; kjpg;G fhz;f 
a. 6   b. 11    c. 112 

d. 62   e. tpil njhpatpy;iy 
 
27. The ratio of 6th and 8th term of an A.P is 7 : 9. Find the ratio of 9th term to 13th term 

a. 5 : 7  b. 7 : 9  c. 8 : 7   d. 9 : 13 e. Answer not known 
xU $l;Lj; njhlh;thpirapd; 6-tJ kw;Wk; 8-tJ cWg;Gfspd; tpfpjk; 7:9 vdpy;> 9-tJ 
kw;Wk; 13-tJ cWg;Gfspd; ,ilNa cs;s tpfpjk; fhz;f. 
a. 5 : 7  b. 7 : 9  c. 8 : 7   d. 9 : 13 e. tpil njhpatpy;iy 

 

28. If A : B = 
1 3

:
2 8

,B : C = 
1 5

:
3 9

 and C : D = 
5 3

:
6 4

, then the ratio A : B : C : D is 

a. 4 : 6 : 8 : 10   b. 6 : 4 : 8 : 10   c. 6 : 8 : 9 : 10  
d. 8 : 6 : 10 : 9   e. Answer not known 

A:B = 
1 3

:
2 8

,B : C = 
1 5

:
3 9

 NkYk; C : D = 
5 3

:
6 4

 vdpy; A : B : C : D f;F rkkhdJ vJ? 

a. 4 : 6 : 8 : 10   b. 6 : 4 : 8 : 10   c. 6 : 8 : 9 : 10  
d. 8 : 6 : 10 : 9   e. tpil njhpatpy;iy 

 

29. If a : b = c : d then 
ma nc

mb nd

+

+
 is equal to  

a. m : n b. dm : cn   c. an : mb d. a : b  e. Answer not known 

a : b = c : d vdpy; 
ma nc

mb nd

+

+
 f;F rkkhd tpfpjk; vJ? 

a. m : n b. dm : cn   c. an : mb d. a : b  e. tpil njhpatpy;iy 
 

30. A man saved ₹16500 in ten years. In each year after the first he saved ₹100 more than he 
did in the preceding year. How much did he save in the first year? 
a. Rs.1600   b. Rs.1200   c. Rs.1600   
d. Rs. 1650   e. Answer not known 
xU egh; 10 tUlq;fspy; &. 16500 I Nrkpf;fpwhh;. Xt;nthU tUlKk; mth; Nrkpf;Fk; 
njhifahdJ mjw;F Ke;ija tUlk; Nrkpf;Fk; njhifia tpl &.100 mjpfk;. mth; 
Kjy; tUlk; vt;tsT Nrkpj;jpUg;ghh;? 
a. Rs.1600   b. Rs.1200   c. Rs.1600   
d. Rs. 1650   e. tpil njhpatpy;iy 
 

31. Choose the correct statement regarding Industrial Finance Corporation of India  
i. Provides long term loans, underwriting of equity, Guaranteeing of loans 
ii. Concessional terms for projects in less developed districts 
iii. Borrows from IDBI and Issues bonds 
a. i, ii, iii  b. ii only  c. i, iii     d. i, ii     e. Answer not known      
,e;jpa njhopy; epjpf;fofk; gw;wpa rhpahd $w;Wfis fz;lwpf 
i. ePz;lfhy fld;fs;> ntspaplg;gl;l rkchpikg; gq;Ffs;> fld;fSf;fSf;fhd 

cj;jputhjk; 
ii. gpd;jq;fpa khtl;lq;fspy; njhopy; njhlq;f epjpapid Fiwe;j tl;btPjq;fspy; 

toq;FfpwJ. 
iii. ,e;jpa njhopy; Nkk;ghl;L tq;fpaplkpUe;J fldhf ngWfpwJ 
a. i, ii, iii  b. ii kl;Lk;  c. i, iii     d. i, ii     e. tpil njhpatpy;iy 
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32. Choose the correct statements regarding Social Infrastructure  
i. Improves quality of manpower and contributes to Economy indirectly 
ii. Lack of Social infrastructure leads to low productivity 
iii. Education, Training, Housing, Research   
a. i, ii, iii  b. ii only  c. i, iii     d. i, ii     e. Answer not known      

 r%f fl;likg;G gw;wp rhpahd $w;Wfis fz;lwpf 
i. kdpj tsq;fis Nkk;gLj;JtJk;> nghUshjhu tsh;r;rpf;F kiwKfkhf 

JizGhpfpwJ. 
ii. r%f cs;fl;likg;G ,y;yhik Fiwe;j cw;gj;jpj;jpwDf;F toptFf;fpwJ. 
iii. fy;tp> gapw;rp> tPl;Ltrjp> Muha;r;rp 
a. i, ii, iii  b. ii only  c. i, iii     d. i, ii     e. tpil njhpatpy;iy 
 

33. Jan Samarth Portal is 
a. One stop-place for foreign trade information  
b. Skill development / Career program portal  
c. Database of unorganized workers   
d. Digital Portal Linking Thirteen Credit linked Government schemes 
e. Answer not known  
[d; rkh;j; ,izajsk; vd;gJ 
a. ntspehl;L th;j;jf jfty;fSf;fhd ,lk; 
b. jpwd; Nkk;ghl;L kw;Wk; Ntiytha;g;G jpl;l ,izajsk; 
c. Kiwrhuh njhopyhsh;fspd; juTfs; 
d. fld; ,izf;fg;gl;l gjp%d;W murhq;f jpl;lq;fSf;fhd Nghh;l;ly; 
e. tpil njhpatpy;iy 
 

34. Monetary Policy Committee recently  
a. Raised the policy repo rate by 50 basis points 
b. Reduced the repo rate by 25 basis points  
c. Repo rate has been left unchanged  
d. Raise the policy repo rate by 25 basis points  
e. Answer not known  
gzf;nfhs;if FO rkPgj;jpy; 
a. nfhs;ifapd; nug;Ngh tpfpjkhdJ 50 mbg;gil Gs;spfs; cah;j;jg;gl;lJ 
b. nfhs;ifapd; nug;Ngh tpfpjkhdJ 25 mbg;gil Gs;spfs; Fiwf;fg;gl;lJ 
c. nfhs;ifapd; nug;Ngh tpfpjk; khwhky; cs;sJ 
d. nfhs;ifapd; nug;Ngh tpfpjkhdJ 25 mbg;gil Gs;spfs; cah;j;jg;gl;lJ 
e. tpil njhpatpy;iy 
 

35. Which of the following statements is/are correct? 
i. Tamilnadu is well developed in Primary and Secondary sector. 
ii. Employment opportunities are more in cities than villages. 
iii. People involved in small scale industries and unorganized sector are mostly found in 

cities 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. jkpo;ehL Kjd;ikj; njhopypYk;> cw;gj;jpj; njhopypYk; rpwe;J tpsq;Fk; khepyk;. 
ii. fpuhkq;fistpl efuq;fspy; Ntiytha;g;Gfs; mjpfk;  
iii. rpWnjhopy; nra;gtu;fs; kw;Wk; mikg;G rhuh njhopyhsu;fs; efuj;jpy; mjpfk; 

cs;sdu;. 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. tpil njhpatpy;iy 
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36. Consider the following statements. 
Assertion (A): Indian Economy is Mixed Economy. 
Reason (R): In India, Private and Public Sector are existing together. 
a. Both (A) and (R) are correct and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true. 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
$w;W (A): ,e;jpag; nghUshjhuk; xU fyg;Gg; nghUshjhuk; 
fhuzk; (R): ,e;jpag; nghUshjhuj;jpy; jdpahu; Jiw epWtdq;fSk; nghJj; Jiw 
epWtdq;fSk; ,ize;J nray;gLfpd;wd.  

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
37. Characteristics of land include. 

1. Land is fixed in supply. 
 2. Land is imperishable 
 3. Land has some Original Indestructible powers 
 4. Land differs in Fertility 
 a. 1, 2 and 3   b. 2, 3 and 4   c. 1, 2 and 4   

d. all the above  e. Answer not known 
 epyj;jpd; rpwg;gpay;Gfs; vtw;iw cs;slf;fpaJ? 

1. epyj;jpd; mspg;G epiyahdJ 
2. epyk; moptpy;yhjJ 
3. epyk; Mw;wy; tha;e;jJ 
4. epyk; nropg;Gj; jd;ikapy; khWgLk; 
a. 1> 2 kw;Wk; 3  b. 2> 3 kw;Wk; 4  c. 1> 2 kw;Wk; 4   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
38. Which of the following is the work of Adamsmith? 

i. The theory of Moral Sentiments (1759). 
ii. An inquiry into the nature and causes of the wealth of nations (1776). 
iii. Principles of Economics. 
a. i, ii, iii b. i, iii  c. i, ii  d. ii, iii  e. Answer not known 
gpd;tUtdtw;Ws; Mlk;];kpj;jpd; gilg;Gfs; vit? 
i. ed;ndwp fUj;J czu;Tf; nfhs;if (1759) 
ii. ehLfspd; nry;tKk;> mtw;iw cUthf;Ffpd;w fhuzpfSk; Xu; Ma;T (1776). 
iii. nghUshjhuf; nfhs;iffs;. 
a. i, ii, iii b. i, iii  c. i, ii  d. ii, iii  e. tpil njhpatpy;iy 
 

39. Consider the following statements. 
i. Capital is the man-made physical goods used to produce other goods and services. 
ii. All wealth is not capital but all capital is wealth. 
a. i, ii are correct  b. i is correct   c. i is correct   
d. i, ii are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
i. %yjdk; vd;gJ gy;NtW gz;lq;fis cw;gj;jp nra;tjw;fhf kdpj Kaw;rpahy; 

cUthf;fg;gl;ljhFk;. 
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ii. vy;yh nry;tq;fSk; %yjdk; ,y;iy Mdhy;> vy;yh %yjdq;fSk; nry;tq;fs;. 
a. i, ii rup   b. i rup    c. ii rup   
d. i, ii jtW   e. tpil njhpatpy;iy 
 

40. Characteristics of capital. 
i. Capital is the dispensable factor of production. 
ii. Capital has the highest mobility. 
iii. Capital is productive 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. Answer not known 
%yjdj;jpd; ,ay;Gfs; vit? 
i. ,J cw;gj;jpapy; jtpu;f;ff;$ba fhuzp 
ii. mjpfk; ,aq;Fk; jd;ikAilaJ. 
iii. %yjdk; Mf;fKilaJ. 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. tpil njhpatpy;iy 
 

41. Choose the correct statements. 
i. Central Board of Direct taxes constituted in 1963. 
ii. Gift tax is one of the direct tax 
a. i, ii   b. i  c. ii  d. none e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. Neu;Kf tupfSf;fhd kj;jpa tUtha; thupak; 1963 –Mk; Mz;L mikf;fg;gl;lJ. 
ii. md;gspg;G tup vd;gJ Neu;Kf tupfSs; xd;W. 
a. i, ii   b. i  c. ii  d. VJkpy;iy e. tpil njhpatpy;iy 
 

42. Choose the correct statements about Swachh Bharat cess? 
i. It is imposed by Government of India. 
ii. It was started from 2 October, 2014. 
iii. It is applicable on all taxable services  
iv. The cess currently stands at 0.5% 
v. It is levied over and above the 13% service tax. 
a. i, ii, iii, iv   b. i, iii, iv   c. ii, v   
d. all the above  e. Answer not known 
J}a;ik ghuj thp Fwpj;J rhpahdit vit? 
i. ,e;jpa murhy; ,t;thp tpjpf;fg;gLfpwJ 
ii. 2 mf;Nlhgh;> 2014 md;W njhlf;fg;gl;lJ 
iii. ,/J midj;J tifahd thpr; NritfSf;Fk; nghUe;Jk; 
iv. ,jd; thp tpfpjk; 0.5% 
v. jw;NghJ 13% f;Fk; Nkw;gl;l Nrit thpfSf;F ,t;thp tpjpf;fg;gLfpwJ 
a. i, ii, iii, iv   b. i, iii, iv   c. ii, v   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

43. Which of the following is/are the objectives of leving of taxes? 
i. To raise revenue. 
ii. To alter prices in order to balance the effect of demand. 
iii. To maintain the stability of the currency 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUtdtw;wpy; tuptpjpg;gjd; Nehf;fk; gw;wp rupahdit vit? 
i. epjp epu;thfj;jpw;F tUthia cau;j;JtJ. 
ii. epjpg; gw;whf;Fiwahy; Vw;gLk; ghjpg;Gfisr; rkd; nra;a> tpiy khw;wj;jpw;F 

cjTtJ. 
iii. gzj;jpd; kjpg;gpid epiyg;gLj;JtJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
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44. The evolution of rupee occurred during the period of ____ 
a. Humayun   b. Akbar   c. Sher Shah Suri   
d. Jahangir   e. Answer not known 
&gha; ehzaKiw ___ fhyj;jpy; Njhw;wk; ngw;wJ. 
a. `PkhAd;   b. mf;gu;   c. n~u;~h #up    
d. [`hq;fPu;   e. tpil njhpatpy;iy 
 

45. Which of the following statements is/are correct? 
i. Paper money is regulated and controlled by Central Bank. 
ii. The aim of plastic money is cashless transactions. 
a. i, ii   b. i  c. ii  d. none e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. fhfpjg; gzj;ij ehl;bd; ikatq;fp fl;Lg;gLj;JfpwJ. 
ii. gzkpy;yh guptu;j;jidNa nefpop gzj;jpd; Nehf;fk;. 
a. i, ii   b. i  c. ii  d. VJkpy;iy e. tpil njhpatpy;iy 
 

46. Secondary functions of money include. 
i. Standard of deferred payment. 
ii. Store of value 
iii. Transfer of purchasing power 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gzj;jpd; ,uz;lhk; epiy gzpfs; vit? 
i. vjpu;fhy nrYj;Jiff;fhd epiykjpg;G 
ii. kjpg;gpd; epiyfyd; 
iii. khw;W thq;Fk; rf;jp 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

47. Which of the following is/are the effects of Black money on economy? 
1. Dual economy 
2. Undermining equity 
3. Widening gap between the rich and poor. 
4. Lavish consumption spending. 
a. 1, 2    b. 3, 4    c. 1, 2, 4   
d. All the above  e. Answer not known 
gpd;tUtdtw;Ws; nghUshjhuj;jpy; fUg;G gzj;jpd; tpisTfs; vit? 
1. ,ul;il nghUshjhuk; 
2. rkj;Jtk; tYtpoj;jy; 
3. gzf;fhu kw;Wk; ViofspilNa ,ilntsp mjpfupj;jy; 
4. Mlk;gu Efu;T nryT. 
a. 1, 2    b. 3, 4    c. 1, 2, 4   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

48. Who advocated the Mixed economic system in India? 
a. Lal Bahadur Sashtri  b Mahatma Gandhi   c. Jawaharlal Nehru 
d. Subash Chandra Bose  e. Answer not known 
,;e;jpahtpy; fyg;Gg; nghUshjhuj;ij Mjupj;jtu;? 
a. yhy;gfJ}u; rh];jpup  b. kfhj;kh fhe;jp   c. [t`u;yhy; NeU  
d. Rgh~; re;jpuNgh];  e. tpil njhpatpy;iy 
  

49. Indicators of socio-economic development  
1. Gross Domestic Product.  2. Life expectancy 
3. Literacy    4. Levels of employment 
a. 1, 2, 4 b. 1, 2, 3 c. 2, 3, 4 d. all the above e. Answer not known 
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r%f-nghUshjhu tsu;r;rpf; FwpaPLfs; 
1. nkhj;j cs;ehl;L cw;gj;jp 2. tho;ehs; vjpu;ghu;g;G 
3. vOj;jwpT    4. Ntiytha;g;G 
a. 1, 2, 4   b. 1, 2, 3    c. 2, 3, 4   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

50. The Government announced the “National Health Protection Scheme” in the budget 
year of ____. 
a. 2016-2017   b. 2017-2018   c. 2018-2019  
d. 2019-2020   e. Answer not known  

 Njrpa Rfhjhu ghJfhg;G jpl;lj;ij murhq;fk; ______ gl;n[l;by; mwptpj;jJ 
a. 2016-2017   b. 2017-2018   c. 2018-2019  
d. 2019-2020   e. tpil njhpatpy;iy 
 

51. Which of the following statements about minimum support price is/are correct? 
i. It is lower than the market price. 
ii. Government procures food grains from Farmers at MSP. 
iii. It is announced during harvest season. 
a. ii only b. ii, iii  c. i, iii  d. i, ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; Fiwe;jgl;r MjuT tpiy gw;wp rhpahdit vit? 
i. ,J nghJthf mq;fhb tpiyiatplf; FiwT 
ii. muR tptrhapfsplk; Fiwe;jgl;r tpiyapy; nfhs;Kjy; nra;fpd;wJ 
iii. ,t;tpiy mWtil fhyj;jpy; murhy; mwptpf;fg;gLfpd;wJ 
a. ii kl;Lk; b. ii, iii  c. i, iii  d. i, ii, iii e. tpil njhpatpy;iy 
 

52. The objectives of New Agricultural policy of India includes. 
i. Modernising Agricultural sector. 
ii. Raising value added per hectare 
iii. Removing bureaucratic obstacles. 
iv. Raising the productivity of inputs. 
a. ii, iii, iv    b. i, iii    c. i, iv   
d. all the above   e. Answer not known 
,e;jpahtpd; Gjpa tptrhaf; nfhs;ifapd; Fwpf;Nfhs;fs;? 
i. tptrhaj; Jiwia etPd kakhf;Fjy;. 
ii. xU n`f;NlUf;F kjpg;G $l;Ljy; 
iii. mjpfhuj;Jt jilfis ePf;Fjy;. 
iv. cs;sPLfspd; cw;gj;jpj;jpwid cau;j;Jjy; 
a. ii, iii, iv    b. i, iii    c. i, iv   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 
 

53. Which of the following scheme is considered as the World’s largest programmes of its 
kind and a model for the holistic development of the child? 
a. PTMGRNMP  b. ICDS    c. NRHM   
d. RCH   e. Answer not known 
gpd;tUtdtw;Ws ve;j jpl;lk; cyfstpy; kpfg;ngupa KOikahf tsu;r;rpf;fhd 
jpl;lq;fspd; khjpup jpl;lkhfj; jpfo;tJ? 
a. PTMGRNMP  b. ICDS    c. NRHM   
d. RCH   e. tpil njhpatpy;iy 
 

54. Which of the following controls money supply and inflation in India? 
a. Ministry of Finance   b. Reserve Bank of India 
c. Central statistical organisation  d. Central government 
e. Answer not known 
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gpd;tUtdtw;Ws; ,e;jpahtpy; gz mspg;G kw;Wk; gztPf;fj;ijf; fl;Lg;gLj;JtJ? 
a. epjp mikr;rfk;    b. ,e;jpa upru;t; tq;fp 
c. kj;jpa Gs;spapay; epWtdk;  d. kj;jpa muR 
e. tpil njhpatpy;iy 
 

55. Consider the following statements. 
I. Adamsmith had given four canons of taxation 
II. The government’s ability to raise taxes is called its Fiscal capacity. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Mlk;];kph; tuptpjpg;gpw;fhd ehd;F tpjpfisf; Fwpg;gpl;Ls;shu; 
II. tupfis cau;j;Jtjw;fhd murhq;fj;jpd; jpwd; ‘epjpj; jpwd;’ vd;W $wg;gLfpwJ. 
a. I, II rup   b. I rup    c. II rup    
d. I, II jtW   e. tpil njhpatpy;iy 
 

56. What integer must be added to each of the four numbers 10, 18, 22, 38 so that they 
become a proportion? 
a. 4  b. 14  c. 2  d. 12  e. Answer not known 
10, 18, 22, 38 vd;w ehd;F vz;fs; xt;nthd;WlDk; ve;j KO vz;iz $l;bdhy; 
fpilf;Fk; vz;fs; xU tpfpj rkj;ij mikf;Fk;? 
a. 4  b. 14  c. 2  d. 12  e. tpil njhpatpy;iy 

 
57. The value of (13 + 23 + 33 +   + 153) – ( 1 + 2 + 3 +   + 15) is 

a. 14400    b. 14200    c. 14280   
d. 14520   e. Answer not known 
(13 + 23 + 33 +   + 153) – ( 1 + 2 + 3 +   + 15) apd; kjpg;G 
a. 14400    b. 14200    c. 14280    
d. 14520   e. tpil njhpatpy;iy 

 
58. Anand earns Rs. 80 in 7 hrs. Ram earns Rs. 90 in 12 hrs. The ratio of their earning is 

a. 23 : 12   b.  8 : 9    c. 32 : 21    
d. 7 : 12  e. Answer not known 
Mde;j; vd;gth; 7 kzp Neuj;jpy; &. 80-k;> uhk; vd;gth; 12 kzp Neuj;jpy; & 90-k; 
rk;ghjpj;jhy;. mth;fs; rk;ghjpj;j njhiffspd; tpfpjk; 
 a. 23 : 12   b.  8 : 9    c. 32 : 21    
d. 7 : 12  e. tpil njhpatpy;iy 

 
59. If 5a + 3b : 2a – 3b = 23 : 5, then the value of a : b is  

a. 1 : 2   b. 1 : 4  c. 2 : 1  d. 4 : 1  e. Answer not known 
5a + 3b : 2a – 3b = 23 : 5 vdpy; a : b vd;gjpd; kjpg;G 
a. 1 : 2   b. 1 : 4  c. 2 : 1  d. 4 : 1  e. tpil njhpatpy;iy 

 
60. Find the value of 26 +27 +28 +...+ 60 

a. 1050  b. 1505   c. 1550   
d. 1830  e. Answer not known 
kjpg;G fhz;f 26 +27 +28 +...+ 60  
a. 1050  b. 1505   c. 1550   
d. 1830  e. tpil njhpatpy;iy  
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61. Which of the following is not the indirect tax? 
i. Stamp duty   ii. Customs duty  iii. Wealth tax 
iv. Entertainment tax v. Excise duty  vi. Corporate tax 
a. i, ii   b. v, vi  c. i, vi  d. iii, vi e. Answer not known 
gpd;tUtdtw;Ws; vit kiwKf tupfs;? 
i. Kj;jpiuj;jhs; tup  ii. Rq;f tup   iii. nry;t tup 
iv. nghOJNghf;F tup v. fyhy; tup   vi. epWtd tup 
a. i, ii   b. v, vi  c. i, vi  d. iii, vi e. tpil njhpatpy;iy 
 

62. Which of the following is/are SGST? 
i. Sales tax   ii. Entertainment tax  iii. Purchase tax 
iv. Service tax  v. Countervailing duty 
a. i, ii, v   b. i, ii, iii    c. iv, v   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; SGST tupfs; vit? 
i. tpw;gid tup  ii. nghOJNghf;F tup  iii. nfhs;Kjy; tup 
iv. Nrit tup  v. <Lnra; tup 
a. i, ii, v   b. i, ii, iii    c. iv, v  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

63. At present which of the following state in India has the largest number of factories? 
a. Gujarath   b. Andhra Pradesh  c. Tamilnadu    
d. Telangana   e. Answer not known 
gpd;tUk; ve;j ,e;jpa khepyj;jpy; jw;NghJ mjpf vz;zpf;ifapyhd njhopw;rhiyfs; 
cs;sd? 
a. F[uhj;   b. Me;jpugpuNjrk;  c. jkpo;ehL    
d. njYq;fhdh  e. tpil njhpatpy;iy 
 

64. Consider the following statements. 
I. Tamilnadu has been hailed as a model for successfully using the SEZ route to attract 

productive investments. 
II. Tamilnadu has the second largest share of workforce employed in the 

manufacturing. 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cw;gj;jp KjyPLfis <u;g;gjw;fhf rpwg;Gg; nghUshjhu kz;lyq;fspd; (SEZ) 

topfisg; gad;gLj;jp ntw;wpaile;jjpy; jkpo;ehL Kd;khjpupahf tpsq;Ffpd;wJ. 
II. cw;gj;jp Jiwapy; Ntiyg;gzp ,lq;fspy; jkpo;ehL ,uz;lhtJ ,lj;jpy; cs;sJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

65. Which of the following organization was setup to negotiate with international firms and 
approve FDI in select areas? 
a. Competition commission  b. FIPB 
c. Central Board of Direct taxes  d. Ministry of finance 
e. Answer not known 
gpd;tUtdtw;wpy; Nju;e;njLf;fg;gl;l gFjpfspy; Neub ntspehl;L KjyPL nra;a 
gd;dhl;L epWtdq;fSld; ntspehl;L KjyPl;il Cf;Ftpf;fTk; Vw;gLj;jg;gl;l mikg;G? 
a. Nghl;bf; FO    b. FIPB 
c. kj;jpa Neub tup thupak;   d. epjpj;Jiw 
e. tpil njhpatpy;iy 
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66. The Kisan credit card is offered by  
a. Cooperative banks  b. Regional Rural Banks c. Public sector banks  
d. All the above   e. Answer not known 
fp~hd; fpnubl; fhu;il toq;FtJ 
a. $l;LwT tq;fpfs;   b. tl;lhu fpuhkg;Gw tq;fpfs;  
c. nghJj;Jiw tq;fpfs;  d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 
 

67. Which of the following statements about EXIM policy is/are correct? 
i. The Ministry of Commerce and Industry announced New Foreign Trade Policy on 1st 

April on 2015 
ii. It focuses on increasing in exports scenario boosting production and supporting the 

concepts like Make in India and Digital India. 
iii. EXIM Policy (2015-2020) is expected to double share of India in world from present 

level of 5% by the year 2020. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; Vw;Wkjp - ,wf;Fkjpf; nfhs;if (EXIM POLICY) gw;wp rupahdit 
vit? 
i. tu;j;jf kw;Wk; njhopy;Jiw mikr;rfk;> 2015 Mk; Mz;L Vg;uy; 1 md;W 

,f;nfhs;ifia mwptpj;jJ. 
ii. Kjd;ikahd Nehf;fk; Vw;Wkjp #oy;fis Nkk;gLj;Jjy;> cw;gj;jp mjpfupg;G kw;Wk; 

,e;jpahtpy; jahupg;Nghk;> kpd;dZ ,e;jpah jpl;lq;fSf;F Mjutspj;jy;. 
iii. jw;NghJ cyf tu;j;jfj;jpy; 5% khf ,Ue;j ,e;jpahtpd; gq;if 2020-f;Fs; Vw;Wkjp 

,wf;Fkjpf; nfhs;if (2015-2020) ,Uklq;F mjpfupf;Fk;. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

68. Consider the following statements. 
I. The special economic zones policy was announced in April 2001. 
II. The special Economic Zones Act was enacted in 2005. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. rpwg;Gg; nghUshjhu kz;lyf;nfhs;if Vg;uy; 2001-,y; cUthf;fg;gl;lJ. 
II. rpwg;Gg; nghUshjhu kz;lyr;rl;lk; 2005-,y; ,aw;wg;gl;lJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

69. Who used the term “Hindu rate of growth” to refer the low economic growth rate of 
India? 
a. Krishna Menon  b. Rajkrishna   c. P.C. Mahalanobis   
d. Narammirao  e. Answer not known 
“,e;J tsu;r;rp tPjk;” vd;gjd; mbg;gilapy; ,e;jpahit Fiwthd nghUshjhu 
tsu;r;rpAila ehL vd;W tu;zpj;jtu; ahu;? 
a. fpU~;zNkdd;  b. ,uh[;fpU~;zh   c. P.C. nk`yNdhgp];  
d. eurpk;kuht;   e. tpil njhpatpy;iy 
 

70. Who had state that “An Indian farmer is born in debt lives in debt, dies in debt and 
bequeaths debt” in 1925? 
a. Seligman   b. Sir Marcom Darling  c. Schumacher   
d. Jean Dreze   e. Answer not known 
“xu; ,e;jpa cotd; fldpNy gpwe;J fldpNy tho;e;J> fldpNy ,we;J mtd; 
re;jjpf;Fk; flidNa tpl;Lr;nry;fpd;whd;” vd;W 1925-,y; $wpatu;? 
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a. nrypf;kd;   b. ru;khy;fk; lhu;ypq;   c. Rkhru;    
d. [Pd; l;uP];   e. tpil njhpatpy;iy  
 

71. The persons consuming less than ___ calories per day in rural areas are treated as they 
are under rural poverty. 
a. 2100  b. 2250 c. 2400  d. 2500 e. Answer not known 
fpuhkj;jpy; xU ehisf;F ____ fNyhupf;Fk; fPNo czT cl;nfhs;gtu;fs; 
tWikf;Nfhl;bd; fPo; cs;stu;fshff; fUjg;gLfpd;wdu;. 
a. 2100  b. 2250 c. 2400  d. 2500 e. tpil njhpatpy;iy 
 

72. Match the following 
Schemes    Year of launch 
A. 20 point programme  1. 1975 
B. IRDP    2. 1977 
C. TRYSEM    3. 1979 
D. Food for work programme 4. 1976 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 1 2 4 3 
nghUj;Jf. 
jpl;lq;fs;   njhlq;fpa Mz;L 
A. 20 mk;r jpl;lk;   1. 1975 
B. IRDP     2. 1977 
C. TRYSEM    3. 1979 
D. Ntiyf;F czT jpl;lk; 4. 1976 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 3 2 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
  

73. Which of the following is/are wrongly matched pairs? 
Schemes     Year of launch 
i. PMAGY   - 2010 
ii. Bharat Nirman Yojana - 2005 
iii. Indira Awas Yojana  - 2009 
iv. JNNURM   - 2005 
a. i  b. ii, iii  c. iii  d. iv  e. Answer not known 
gpd;tUtdtw;wpy; jtwhf nghUe;jpait? 
jpl;lq;fs;     njhlq;fpa Mz;L 
i. PMAGY    - 2010 
ii. ghuj; epu;khd; Nah[dh  - 2005 
iii. ,e;jpuh Mth]; Nah[dh - 2009 
iv. JNNURM    -  2005 
a. i  b. ii, iii  c. iii  d. iv  e. tpil njhpatpy;iy 
 

74. The Self Help Groups Bank linked programme was started in 
a. 1990  b. 1991   c. 1992   
d. 1993  e. Answer not known 
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Ra cjtpf; FOf;fs; tq;fp ,izg;Gj; jpl;lk; njhlq;fg;gl;l Mz;L 
a. 1990  b. 1991   c. 1992   
d. 1993  e. tpil njhpatpy;iy 
 

75. Tamilnadu performance is better than national average in terms of 
i. IMR and MMR  ii. Higher education   iii. Health 
a. i, ii, iii  b. ii, iii c. i, ii  d. i, iii  e. Answer not known 
jkpo;ehl;bd; nray;ghL Njrpa ruhrupiatpl rpwg;ghf cs;s Jiwfs;. 
i. Foe;ij ,wg;G tpfpjk; kw;Wk; kfg;NgW ,wg;G tpfpjk; 
ii. cau;fy;tp 
iii. cly;eyk; 
a. i, ii, iii b. ii, iii c. i, ii  d. i, iii   e. tpil njhpatpy;iy 
 

76. Consider the following statements. 
Assertion (A): Tamilnadu has a highest Gross Enrolment ratio in higher  
   education. 
Reason (R):  Tamilnadu has the largest number of engineering colleges. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): jkpo;ehL cau;fy;tpapy; nkhj;j Nru;f;if tpfpjk; mjpfk; cs;s khepykhf 
cs;sJ. 

 fhuzk; (R): kpf mjpf vz;zpf;ifapyhd nghwpapay; fy;Y}upfs; jkpofj;jpy; cs;sd. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
77. Which state has the highest number of internet subscribes in India? 

a. Karnataka    b. Tamilnadu   c. Maharashtra   
d. Uttar Pradesh  e. Answer not known 
,e;jpahtpy; ,izag; gad;ghl;by; Kjyplj;jpy; cs;s khepyk;? 
a. fu;ehlfk;   b. jkpo;ehL   c. kfhuh~;buh    
d. cj;jug;gpuNjrk;  e. tpil njhpatpy;iy 
 

78. Which of the following statements about socialism is/are correct? 
i. Public welfare is the main motive behind all economic activities. 
ii. It aims at equality in the distribution of income and wealth and equal opportunity for 

all. 
iii. Planning is an integral part of a socialistic economy. 
a. ii only   b. i and ii only   c. ii and iii only   
d. all the above  e. Answer not known 
rkj;Jtg; nghUshjhuk; Fwpj;J rupahd $w;Wfs; vit? 
i. nghJeyNk midj;J nghUshjhu eltbf;iffspd; Kf;fpa gpd;Gy Nehf;fkhFk;. 
ii. tUtha; kw;Wk; nry;tk; gfpu;tjpy; rkj;Jtk; kw;Wk; midtUf;Fk; rktha;g;G 

toq;FtNj ,jd; Fwpf;Nfhs;. 
iii. xU rkj;Jt nghUshjhu mikg;gpy; jpl;lkpLjy; vd;gJ xUq;fpize;j xU 

gFjpahFk;. 
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a. ii kl;Lk;    b. i kw;Wk; ii kl;Lk;  c. ii kw;Wk; iii kl;Lk;   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy   
 

79. The concept of national income was first introduced by 
a. J.M. Keynes   b. Samuelson   c. Simon Kuznets   
d. Fisher    e. Answer not known 
Njrpa tUtha; vDk; fUj;JUit Kjypy; mwpKfg;gLj;jpatu; _____. 
a. J.M. fPd;];    b. rhKNty;rd;  c. irkd; F];nel;];   
d. gp~u;    e. tpil njhpatpy;iy 
 

80. Which of the following is/are incorrect? 
i. Market price = Factor cost + Indirect taxes – Subsidies 
ii. Net Indirect Taxes = Indirect tax – Subsidies 
iii. Gross Value Added = Value of output + Intermediate consumption 
iv. Value of output = Sales (-) Change in stock 
v. Change in stock = Closing stock (-) Opening stock 
a. i, ii  b. ii, iii c. iii, iv  d. iv, v e. Answer not known 
gpd;tUtdtw;Ws; jtwhd $w;wpidj; Nju;e;njL. 

i. re;ij tpiy = fhuzpnryT + kiwKftup 
ii. epfu kiwKftupfs; = kiwKftup – cjtpj;njhiffs; 
iii. nkhj;j kjpg;G $l;ly; = cw;gj;jpapd; kjpg;G + ,ilepiy Efu;T 
iv. cw;gj;jpapd; kjpg;G = tpw;gid - ,Ug;gpy; khw;wk;  
v. ,Ug;gpy; khw;wk; = KbAk; ,Ug;G – njhlf;f ,Ug;G 
a. i, ii  b. ii, iii c. iii, iv  d. iv, v e. tpil njhpatpy;iy 

 
81. The major feature of rural unemployment is the existence of unemployment in the form 

of ___. 
a. Disguised unemployment   b. Seasonal unemployment 
c. Frictional unemployment  d. Both a & b 
e. Answer not known 
fpuhkg;Gwq;fspy; epyTk; Ntiyapd;ik _____. 
a. kiwKf Ntiyapd;ik   b. gUtfhy Ntiyapd;ik 
c. gpwo;r;rp Ntiyapd;ik   d. a kw;Wk; b ,uz;Lk; 
e. tpil njhpatpy;iy 
 

82. Which of the following statement is/are incorrect? 
i. The currency notes are also called as legal tenders. 
ii. M1 and M2 money are known as broad money. 
iii. M3 and M4 money are known as narrow money. 
a. i and ii  b. ii and iii   c. ii only   
d. iii only  e. Answer not known 
gpd;tUtdtw;Ws; jtwhdf; $w;wpidj; Nju;e;njL. 
i. fhfpjg;gzq;fs; mjpfhuk; ngw;w rl;lG+u;tkhd nryhtzp. 
ii. M1 kw;Wk; M2 gzk; gue;jepiyg; gzk; vd;wiof;fg;gLfpwJ. 
iii. M3 kw;Wk; M4 gzk; FWfpa gzk; vd;wiof;fg;gLfpwJ. 
a. i kw;Wk; ii  b. ii kw;Wk; iii   c. ii kl;Lk;   
d. iii kl;Lk;  e. tpil njhpatpy;iy 
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83. Which of the following statements about Rupee symbol is/are correct? 
i. The new Rupee symbol was designed by D.Udayakumar, a post graduate of IIT 

Bombay. 
ii. It came into use on 15th June 2010. 
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; gzf; FwpaPL Fwpj;J rupahdit? 
i. ,J ,e;jpaj; njhopy;El;gf; fofk; Kk;igapy; KJfiyg; gl;lk; ngw;w           

D. cjaFkhuhy; tbtikf;fg;gl;lJ. 
ii. ,J [_d; 15> 2010 Mk; Mz;L gad;ghl;bw;F te;jJ. 
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

84. Consider the following statements: 
I. Hyperinflation points out to unmanageably high inflation rates that run into two or 

three digits. 
II. The first hyperinflation of the 21st century results from Zimbabwe with 3714% at the 

end of April 2007.  
III. Running inflation is also known as trolling inflation  
a. I, II only correct   b. I, III only correct    c. II, III are incorrect  
d. I, II, III are correct e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cau; gztPf;fk; vd;gJ rkhspf;f Kbahj mstpw;F ,uz;L my;yJ %d;W ,yf;f 

rjtpfpjj;jpy; cs;s gztPf;fk;. 
II. 21-k; E}w;whz;bd; Kjy; cau; gztPf;fk; [pk;ghk;Nt ehl;by; Mz;bw;F 3714% Mf 

Vg;uy; 2007 ,Wjpapy; cau;e;jJ. 
III. XLk; gztPf;fk; efUk; gztPf;fk; vd;Wk; miof;fg;gLfpd;wJ. 
a. I, II rup   b. I, III rup    c. II, III rup   
d. midj;Jk; rup  e. tpil njhpatpy;iy 
 

85. The cause of inflation includes 
(i) Increase in Money Supply 
(ii) Sale of Government securities in the open market 
(iii) Deficit Financing  
(iv) Increase in Disposable income 
(v) Decrease in consumer spending  
a. (i), (ii), and (iv)   b. (ii) and (v)   c. (i), (iii) and (iv)   
d. (i), (iv) and (v)    e. Answer not known 
gztPf;fj;jpw;fhd fhuzq;fs; vit? 
(i) gzmhpg;G cau;T 
(ii) ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy; 
(iii) gw;whf;Fiw epjpahf;fk;. 
(iv) nrytplj;jFe;j tUthapy; cau;T 
(v) Efu;Nthu; nrytpy; FiwT 
a. i, ii kw;Wk; iv   b. ii kw;Wk; v   c. i, iii kw;Wk; iv   
 d. i, iv kw;Wk; v   e. tpil njhpatpy;iy 
 

86. Find the ratio of 1 m and 2 m 25 cm. 
a. 4 : 9   b. 9 : 4  c. 1 : 5  d. 2 : 5  e. Answer not known 
1 kP f;Fk; 2 kP 25 nr.kP f;Fk; cs;s tpfpjk; fhz;f 
a. 4 : 9   b. 9 : 4  c. 1 : 5  d. 2 : 5  e. tpil njhpatpy;iy 
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87. Which is not an equivalent ratio of 16
24

?  

a. 6
9

   b. 8
12

  c. 10
15

 d. 20
28

 e. Answer not known
 

16
24

 f;F vJ rkhd tpfpjk; my;y?  

a. 6
9

   b. 8
12

  c. 10
15

 d. 20
28

 e. tpil njhpatpy;iy 

 
88. How many consecutive terms starting from the first term of the series 2 + 6 + 18 +… 

would sum to 728 ? 
a. 6   b. 8  c. 12  d. 13  e. Answer not known 
2 + 6 + 18 +… vd;w njhlhpy; vj;jid cWg;Gfis $l;bdhy; $Ljy; 728 fpilf;Fk;? 
a. 6   b. 8  c. 12  d. 13  e. tpil njhpatpy;iy 

 
89. If A : B = 2 : 5, B : C = 15 : 7, find the ratio of A : B : C. 

a. 2 : 5 : 7  b. 3 : 15 : 7    c. 6 : 15 : 7    
d. 6 : 15 : 14  e. Answer not known 
A : B = 2 : 5, B : C = 15 : 7 vdpy;> A : B : C apd; tpfpjj;ijf; fhz;f. 
a. 2 : 5 : 7  b. 3 : 15 : 7    c. 6 : 15 : 7    
d. 6 : 15 : 14  e. tpil njhpatpy;iy 

 
90. Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm,…, 24 cm. How much 

area can be decorated with these colour papers?  
a. 4615 cm2    b. 4516 cm2    c. 4165 cm2    
d. 4156 cm2   e. Answer not known 
Nufhtplk; 10 nr.kP> 11 nr.kP> nr.kP>…> 24 nr.kP vd;w gf;f msTs;s 15 rJU tbt 
tz;zf; fhfpjq;fs; cs;sd. ,e;j tz;zf; fhfpjq;fisf; nfhz;L vt;tsT gug;ig 
milj;J myq;fhpf;f KbAk;? 
a. 4615 nr.kP2    b. 4516 nr.kP2    c. 4165 nr.kP2    
d. 4156 nr.kP2   e. tpil njhpatpy;iy 
 

91. Disposable income may increase with 
i. Rise in national income    ii. Reduction in taxes  
iii. Rise in the saving of the people 
a. (i) and (ii) only  b. (ii) and (iii) only   c. (i) and (iii) only  
d. (i), (ii) and (iii)  e. Answer not known 
nrytplj; jFe;j tUtha; vjDld; cau;fpwJ.  
i. Njrpa tUtha; mjpfupg;G  ii. tuptpfpj Fiwg;G 
iii. kf;fspd; Nrkpg;G mjpfupj;jy; 
a. i kw;Wk; ii kl;Lk;  b. ii kw;Wk; iii kl;Lk;   c. i kw;Wk; iii kl;Lk;   
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

92. Consider the following statements 
Assertion (A): During inflation, debtors are the gainers while the creditors are losers. 
Reason (R): The debtors had borrowed when the purchasing power of money was high 
and now repays the loans when the purchasing power of money is low due to rising 
prices. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false but (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
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e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
$w;W (A): gztPf;f fhyj;jpy; fld; ngw;Nwhu; Mjhaj;ijAk;> fld; toq;fpNahu; 
,og;igAk; re;jpf;fpd;wdu;. 
fhuzk; (R): fld; thq;fpanghOJ gzkjpg;G cau;thfTk; gztPf;f fhyj;jpy; jpUg;gpr;  

nrYj;Jk; nghOJ gzkjpg;G Fiwthf ,Ug;gjhy; fld; thq;fpNahu; 
Mjhakilfpd;wdu;. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

93. The measures to control inflation includes  
(i) Higher CRR, SLR and Bank rate  
(ii) Consumer credit control  
(iii) Lower Repo rate  
(iv) Higher Reverse Report Rate 
(v) Sale of government securities in the open market.  
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)   
d. (i), (ii), (iv), (v)  e. Answer not known 
gztPf;fj;ij fl;Lg;gLj;Jk; topKiwfs; vit? 
(i) nuhf;f ,Ug;G tpfpjk;> rl;lG+u;t ePu;ik tpfpjk; kw;Wk; tq;fp tpfpjj;ij  

  cau;j;Jjy;. 
(ii) Efu;Nthu; flidf; fl;Lg;gLj;jy;. 
(iii) Efu;Nthu; flidf; Fiwj;jy;. 
(iv) kPs; thq;fy; tpfpjj;ij mjpfupj;jy;. 
(v) ntspr;re;ijapy; muR gj;jpuq;fis tpw;wy;. 
a. (i), (ii), (iv)   b. (i), (ii), (iii)   c. (ii), (iii), (v)   
d. (i), (ii), (iv), (v)  e. tpil njhpatpy;iy 
 

94. Choose the correct statements: 

i. Imperial Bank of India was established in 1921.  

ii. Imperial Bank of India was changed into State Bank of India in 1949. 

iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 
ii. ,e;jpa ,k;gPhpay; tq;fp 1949-,y; ghuj ];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii  e. tpil njhpatpy;iy 
 

95. Choose the correct statements.  

i. Headquarter of RBI moved from Calcutta to Mumbai in 1937. 

ii. CD Deshmuk was the First Governor of RBI.  

iii. RBI also called "Lender of Last Resort". 
 a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii  e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1937-y; RBI -,d; jiyikafk; fy;fj;jhtpypUe;J Kk;igf;F khw;wg;gl;lJ. 
ii. RBI-d; Kjy; ftu;du; CD Nj~;Kf;. 
iii. RBI filrp epiyf;fld; <Nthd; vd;Wk; miof;fg;gLfpd;wJ. 
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a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii  e. tpil njhpatpy;iy 
96. Consider the following statements:  

I. As per see 22 of banking Regulation Act, every Bank has to obtain a banking license 
from RBI to conduct banking business in India.  

II. For settlement of Banking transactions RBI manages 16 clearing houses.  
a. I only correct    b. II only correct   c. Both are correct   
d. Both are incorrect   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. tq;fpfs; Kiwg;gLj;Jjy; rl;lk;> gpupT 22d;gb xt;nthU tzpf tq;fpAk; ,e;jpahtpy; 

tq;fpj;njhopy; nra;a ikatq;fpaplk; cupkk; ngw Ntz;baJ mtrpak;. 
II. tq;fpfSf;fpilNa elf;Fk; guptu;j;jidfis 16 jPh;tfq;fisf; nfhz;L rkd; 

nra;fpwJ. 
a. I kl;Lk; rup    b. II kl;Lk; rup  c. ,uz;Lk; rup   
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

97. Match the following:  
A. FEMA Act      1. 1995 
B. Banking ombudsman Scheme    2. 2007 
C. Banking Regulation act     3. 1999 
D. Payment and settlement systems act   4. 1949  
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2  
e. Answer not known 
nghUj;Jf. 
A. FEMA rl;lk;    1. 1995 
B. tq;fp Fiwj;jPu;g;gha jpl;lk;  2. 2007 
C. tq;fp newpKiwr; rl;lk;  3. 1999 
D. nrYj;Jjy; kw;Wk; jPu;Tr; rl;lk; 4. 1949 
 A B C D 
a. 1 2 4 3  
b. 3 2 4 1  
c. 3 1 4 2  
d. 1 3 4 2 
e. tpil njhpatpy;iy  
 

98. Statutory Liquidity Ratio is the amount which a bank has to maintain in the Form of 
_________.  
a. cash    b. Gold    c. approved securities    
d. All the above   e. Answer not known 
rl;lG+u;t ePu;ik tpfpjk; tq;fpfs; ____ Mf itj;jpUf;fpd;wd. 
a. nuhf;fk;   b. jq;fk;   c. xg;Gjy; ngw;w gj;jpuqfs;  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

99. Choose the correct statements about cash reserve ratio (CRR).  

i. If the CRR is high, the commercial bank's capacity to create credit Will be less.  

ii. The CRR is direct proportional to commercial bank's capacity to create credit  
a. i, ii    b. i only    c. ii only   
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d. none    e. Answer not known 
 
nuhf;f ,Ug;G tpfpjk; Fwpj;j rupahd $w;wpidj; Nju;e;njL. 
i. nuhf;f ,Ug;G tpfpjk; mjpfkhf ,Ue;jhy; tzpf tq;fpfspd; fld; cw;gj;jp 

Fiwthf ,Uf;Fk;. 
ii. nuhf;f ,Ug;G tpfpjk; tzpf tq;fpfspd; fld; cw;gj;jpf;F Neu;tpfpjj;jpy; ,Uf;Fk;. 
a. i, ii    b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

100. At National level, the agriculture credit department was set up by. 
a. Ministry of agriculture and Farmers welfare   b. NITI Aayog  
c. Ministry of Rural development     d. Reserve Bank of India  
e. Answer not known 
Njrpa mstpy; tptrhaj;jpw;nfd jdpahd tptrhaf; fld; Jiwia ___ epWtpaJ. 
a. Ntshz; kw;Wk; tptrhapfs; eyj;Jiw mikr;rfk; b. epjp MNahf; 
c. Cuf Nkk;ghl;L mikr;rfk;    d. ,e;jpa upru;t; tq;fp 
e. tpil njhpatpy;iy 
 

101. Consider the following statements about 20 points programme. 
I. It was implemented by Mrs. Indira Gandhi during the emergency period. 
II. It provide institutional credit to farmers and artisans in rural areas. 
III. Regional Rural Banks were established in 1976. 
a. I, II are correct  b. I, III are correct   c. II, III are correct   
d. I, II and III are correct e. Answer not known 
20 mk;rjpl;lk; Fwpj;j $w;Wfis Muha;f. 
I. ,J Kd;dhs; gpujku; ,e;jpuhfhe;jpahy; mtruepiyfhy fl;lj;jpy; mky;gLj;jg;gl;lJ. 
II. fpuhkg;Gwq;fspy; trpf;Fk; tptrhapfs; kw;Wk; iftpidQh;fSf;F fld; toq;FfpwJ. 
III. 1976-Mk; Mz;L tl;lhu Cuf tq;fpfs; epWtg;gl;ld. 
a. I, II rup   b. I, III rup    c. II, III rup   
d. I, II, III rup   e. tpil njhpatpy;iy 
 

102. The cooperative credit structure is ____ in India. 
a. Two-tier  b. Three-tier   c. Four-tier   
d. Five-tier  e. Answer not known 
,e;jpahtpy; $l;LwT rq;fq;fs; ___ topahf tptrhaj;jpw;fhd flid toq;FfpwJ. 
a. ,uz;lLf;F  b. %d;wLf;F   c. ehd;fLf;F   
d. Ie;jLf;F  e. tpil njhpatpy;iy 
 

103. Consider the following statements. 
I. IFCI was established on July 1, 1948. Under the act of parliament. 
II. It provides long-term loans both in rupees and foreign currencies. 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;wpid Muha;f. 
I. ,e;jpa njhopy; epjpf;fofk; [_iy 1> 1963-y; ghuhSkd;w rl;lg;gb epWtg;gl;lJ. 
II. ,e;jpa &gha; kw;Wk; ntspehl;L gzj;jpy; ePz;l fhyf; fld;fis toq;FfpwJ. 
a. I, II rup   b. I rup    c. II rup  
d. I, II jtW   e. tpil njhpatpy;iy 
 

104. Choose the correct statements about Monetary policy. 
i. It is the macroeconomic policy. 
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ii. The initiation of monetary policy was made by J.M.Keynes 
iii. It gained its significance after the World War – II. 
a. i and ii   b. i and iii   c. ii and iii   
d. i, ii and iii   e. Answer not known 
gztpay; nfhs;if gw;wp rupahd $w;wpidj; Nju;enjL. 
i. ,J xU Ngupdg; nghUspay; nfhs;if. 
ii. gztpay; nfhs;ifia Kd;ndLj;jtu;. 
iii. ,uz;lhk; cyfg;NghUf;Fg;gpd; Kf;fpaj;Jtk; ngw;wJ. 
a. i kw;Wk; ii   b. i kw;Wk; iii   c. ii kw;Wk; iii   
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

105. Which of the following statements about NEFT is/are correct? 
i. Transactions happens in batches hence slow  
ii. No minimum limit. 
iii. Maintained by RBI 
a. i and ii   b. ii and iii   c. i and iii   
d. all the above  e. Answer not known 
NEFT gw;wpa $w;Wfspy; rupahdit vit? 
i. gzg;guptu;j;jid njhFg;G Kiw eilngWtjpy; fhyjhkjk; Vw;gLfpwJ. 
ii. Fiwe;jgl;r tuk;G ,y;iy 
iii. ,e;jpa upru;t; tq;fpahy; guhkupf;fg;gLfpwJ. 
a. i kw;Wk; ii   b. ii kw;Wk; iii   c. i kw;Wk; iii  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

106. What is a Non-performing Asset? 
a. It is a loan or advance for which the principle or interest payment remained as due 

for a certain definite period. 
b. It is an individuals’ asset which is not yielding adequate returns. 
c. It is a social asset like Railways which is not performing. 
d. It is an immovable property which cannot be sold as and when required. 
e. Answer not known 
nray;glhr; nrhj;J vd;why; vd;d? 
a. xU fldpd; my;yJ Kd;gzj;jpd; mrNyh my;yJ tl;bNah xU tiuaWf;fg;gl;l 

fhyj;jpw;F epYitapy; ,Ug;gJ. 
b. NghJkhd tUtha; ngw ,ayhj xU jdpegupd; nrhj;J 
c. nray;glhj ,Ug;Gg;ghij Nghd;w xU nghJr;nrhj;J. 
d. Njitg;gLk;NghJ tpw;f ,ayhj xU mirahr; nrhj;J. 
e. tpil njhpatpy;iy 
 

107. The Indian Rupee was not devalued in the year of ____  
a. 1949 b. 1966 c. 1991  d. 2016 e. Answer not known 
,e;jpahtpy; nryhtzp kjpg;gpwf;fk; nra;ag;glhj Mz;L vJ? 
a. 1949 b. 1966 c. 1991  d. 2016 e. tpil njhpatpy;iy 
 

108. Which of the following is/are incorrectly matched? 
Institution     Headquarters 
i. International Monetary Fund - Washington 
ii. World Trade Organization - Geneva 
iii. World Bank   - Newyork 
a. ii only b. iii only c. i and iii  d. none e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpaijj; Nju;e;njL. 
epWtdk;    jiyikafk; 
i. gd;dhl;L gzepjpak;  - th~pq;ld; 
ii. cyf tu;j;jf mikg;G  - n[dpth 
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iii. cyf tq;fp   - epA+ahu;f; 
a. ii kl;Lk; b. iii kl;Lk; c. i kw;Wk; ii d. VJkpy;iy  e. tpil njhpatpy;iy 

109. Which of the following country is not the member of ASEAN? 
a. India  b. Thailand   c. Malaysia   
d. Singapore  e. Answer not known 
ASEAN mikg;gpd;  cWg;gpdu; my;yhj ehL vJ? 
a. ,e;jpa   b. jha;yhe;J   c. kNyrpah   
d. rpq;fg;G+u;  e. tpil njhpatpy;iy 
 

110. Which of the following group of nations is especially meant for South-South framework 
cooperation? 
a. G-20 countries  b. ASEAN   c. SAARC     
d. BRICS   e. Answer not known 
gpd;tUtdtw;Ws; ve;j $l;likg;G njw;F-njw;F xj;Jiog;ig Nkk;gLj;Jk; fl;likg;ghf 
nray;gLfpd;wJ? 
a. G-20 ehLfs;  b. Mrpahd;   c. rhu;f;   
d. gpupf;];   e. tpil njhpatpy;iy 
 

111. “Incomings may be scant; but yet, not failure there, If in expenditure you rightly learn to 
spare”. What do you infer from the above? 
a. Work hard to increase your income. 
b. Though income is limited, one can live without any misery, if the outflow is carefully 

managed. 
c. Completely restrict the outflow regardless of your income. 
d. Increase both the income and the outflow. 
e. Answer not known 
“MfhW mstpl;b jhapDq; Nfby;iy 
NghfhW mfyhf; fil” 
- Nkw;fhZk; Fwspy; ,Ue;J ePtpu; mwptJ ahJ? 
a. tuitg; ngUf;Ftjw;Ff; fbdkhf ciof;f Ntz;Lk;. 
b. nryitf; ftdkhf Nkyhz;ik nra;jhy; tuT FiwthdhYk; vt;tpjj; Jd;gKkpd;wp 

tho KbAk;. 
c. tuT vj;jida jhapDk; nrytpd; ngUf;fj;ij KOikahff; fl;Lg;gLj;Jf. 
d. tuT> nryT ,uz;ilAk; mjpfupj;Jf; nfhs;s Ntz;Lk;. 
e. tpil njhpatpy;iy 
 

112. The plans and policies of the Direct taxes are being recommended by 
a. Central Ministry of Finance  
b. Reserve Bank of India 
c. Central Board of Direct Taxes  
d. Central ministry of commerce and industry 
e. Answer not known 
Neub tup rhu;e;j jpl;lq;fs; kw;Wk; nfhs;iffis gupe;Jiu nra;tJ ____. 
a. kj;jpa epjp mikr;rfk;  
b. ,e;jpa upru;t; tq;fp 
c. kj;jpa Neu;Kf tup thupak; 
d. kj;jpa tu;j;jf kw;Wk; njhopy;Jiw mikr;rfk; 
e. tpil njhpatpy;iy 
 

113. Consider the following statements. 
Assertion (A): Indirect taxes are sometimes unjust and regressive in nature. 
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Reason (R): In this tax both rich and poor persons have to pay some amount as taxes 
irrespective of their income level. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 

 $w;W (A): kiwKftupfs; rpy Neuq;fspy; ePjpaw;w kw;Wk; Nja;tPj jd;ik nfhz;lJ. 
 fhuzk; (R): ,t;tupapy; tUkhd kl;lj;jpw;F mg;ghw;gl;L Vio kw;Wk; gzf;fhuu;fs;  

Mfpa ,UtUk; xNu tupj;njhifia nrYj;j Ntz;Lk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
114. Consider the following statements. 

I. Direct tax helps in controlling the inflation. 
II. Indirect taxes push up price inflation. 
a. I, II are correct  b. I is correct   c. II is correct     
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Neubtup gztPf;fj;ijf; fl;Lg;gLj;j cjTfpwJ. 
II. kiwKf tup tpiy ce;J gztPf;fj;ij Vw;gLj;JfpwJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

115. The method of sinking fund was first introduced by 
a. Friedrich August Von Hayek b. J.M. Keynes  c. Lawrence Robert Klein  
d. Walpol    e. Answer not known 
%o;Fk; epjp Kjd;Kjypy; mwpKfk; nra;jtu; ___. 
a. gpul;upf; mf];l; thd; N`af; b. J.M. fPd;];   c. yhud;]; uhgh;l; fpspd;  
d. thy;Nghy;    e. tpil njhpatpy;iy 
 

116. The third proportional to 8,12 is: 
a. 18   b. 8   c. 4  d. 20  e. Answer not known 
 
8> 12 vd;w vz;fspd; %d;whk; tpfpjk; vd;d? 
a. 18   b. 8   c. 4  d. 20  e. tpil njhpatpy;iy 

 
117. A bag contains one rupee 50 paise and 25 paise coins in the ratio 5 : 6 : 8. If the total 

amount is Rs.420, find the total number of coins. 
a. 789   b. 978   c. 879  d. 798  e. Answer not known 
xU igapy; 5 : 6 : 8 vd;w tpfpjj;jpy; xU &gha; 50 igrh kw;Wk; 25 igrh ehzaq;fs; 
cs;sd. nkhj;jj; njhif &.420 vdpy;> nkhj;j ehzaq;fspd; vz;zpf;ifiaf; 
fz;lwpaTk;. 
a. 789   b. 978   c. 879  d. 798  e. tpil njhpatpy;iy 

 
118. If 3 + k, 18 - k, 5k + 1 are in A.P. then find k. 

a. 4  b. 5   c. 6  d. 8  e. Answer not known 
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If 3 + k, 18 - k, 5k + 1 vd;git xU $l;Lj; njhlh;thpirapy; cs;sd vdpy;> k-apd; 
kjpg;Gf; fhz;f 
a. 4  b. 5   c. 6  d. 8  e. tpil njhpatpy;iy 

119. 1,245 is divided among 3 persons so that if Rs. 10, Rs. 15 and Rs. 20 are subtracted from 
their shares becomes 3 : 4 : 5. Then their shares are  
a. Rs. 415, Rs. 310, Rs. 520  b. Rs. 310, Rs. 520, Rs. 415   
c. Rs. 415, Rs. 520, Rs. 310  d. Rs. 310, Rs.415, Rs. 520 
e. Answer not known 
&.1245I 3 egh;fs; gphpj;Jf;nfhs;fpd;wdh;. mth;fs; gq;FfspypUe;J &.10> &.15 kw;Wk; 
&.20 fopf;fg;gl;l gpwF cs;s njhiffspd; tpfpjk; 3 : 4 : 5 vdpy; mth;fspd; 
gq;Ffis fhz;f 
a. Rs. 415, Rs. 310, Rs. 520  b. Rs. 310, Rs. 520, Rs. 415   
c. Rs. 415, Rs. 520, Rs. 310  d. Rs. 310, Rs.415, Rs. 520 
e. tpil njhpatpy;iy 

 
120. Find the sum of all numbers between 100 and 200 which are not divisible by 5. 

a. 12000   b. 14850   c. 15050   
d. 19900   e. Answer not known 
100-f;Fk; 200-f;Fk; ,ilNaAs;s 5 My; tFglhj midj;J ,ay; vz;fspd; 
$l;lw;gyidf; fhz;f. 
a. 12000   b. 14850   c. 15050   
d. 19900   e. tpil njhpatpy;iy 
 

121. Which of the following is called as “Lame duck budget”? 
a. Deficit budget   b. Zero base budget  c. Capital budget   
d. Vote-on-Account   e. Answer not known 
gpd;tUtdtw;Ws; nehz;b thj;JtuT nryTj;jpl;lk; vd;gJ 
a. gw;whf;Fiw gl;n[l;  b. G+[;a gl;n[l;  c. %yjd gl;n[l;   
d. epjpf;F thf;nfLg;G gl;n[l; e. tpil njhpatpy;iy 
 

122. Consider the following statements. 
I. Finance commission is a constitutional body. 
II. It was setup under Article 280 of the Indian constitution. 
III. It was established in the year 1950 
a. I, II are correct   b. II, III are correct  c. II is correct    
d. I, III are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. epjpf;FO xU rl;lG+u;t mikg;G. 
II. ,J ,e;jpa murpayikg;gpd; tpjp 280-d; fPo; mikf;fg;gLfpwJ. 
III. ,J 1950-,y; epWtg;gl;lJ. 
a. I, II rup    b. II, III rup   c. II rup   
d. I, III rup    e. tpil njhpatpy;iy 
 

123. Match the following 
Finance Commission  Chairman 
A. Eighth    1. N.K.P. Salve 
B. Ninth    2. A.M. Khusro 
C. Tenth    3. K.C. Pant 
D. Eleventh    4. Y.B. Chavan 
 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
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c. 2 4 3 1 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf. 
epjpf;FO    jiytu; 
A. vl;lhtJ    1. N.K.P. rhy;Nt 
B. xd;gjhtJ    2. A.M. F];Nuh 
C. gj;jhtJ    3. K.C. ge;j; 
D. gjpndhwhtJ   4. Y.B. rthd; 
 A B C D 
a. 1 3 2 4 
b. 4 1 3 2 
c. 2 4 3 1 
d. 2 1 3 4 
e. tpil njhpatpy;iy 
 

124. Which of the following is/are the sources of revenue of village Panchayats? 
i. General property tax  ii. Profession tax  iii. Taxes on land 
a. i, iii  b. ii, iii c. i, ii  d. i, ii, iii e. Answer not known 
gpd;tUtdtw;Ws; fpuhk gQ;rhaj;jpd; epjp %yq;fs; vit? 
i. nghJ nrhj;J tup   ii. njhopy; tup  iii. epyk; kPjhd tup 
a. i, iii  b. ii, iii c. i, ii  d. i, ii, iii e. tpil njhpatpy;iy 
 

125. Which of the following is/are the fiscal instruments? 
i. Taxation ii. Public debt iii. Public expenditure iv. Deficit budget 
a. i, ii    b. ii, iii, iv   c. i, ii, iii   
d. i, ii, iii, iv   e. Answer not known 
gpd;tUtdtw;Ws; epjpf;fUtpfs; vit? 
i. tuptpjpj;jy;  ii. nghJf;fld; iii. nghJr; nryT iv. gw;whf;Fiw gl;n[l; 
a. i, ii   b. ii, iii, iv    c. i, ii, iii   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 
 

126. Match the following 
A. SDG 10  1. Life below water 
B. SDG 13  2. Reduce inequalities 
C. SDG 14  3. Life on Land 
D. SDG 15  4. Climate action 
 A B C D 
a. 1 3 4 2 
b. 2 4 3 1 
c. 2 4 1 3 
d.  3 1 2 4 
e. Answer not known 
nghUj;Jf. 
A. SDG 10  1. ePUf;fbapy; tho;f;if 
B. SDG 13  2. Vw;wj;jho;T Fiwg;G 
C. SDG 14  3. epyg;gFjpapy; tho;f;if 
D. SDG 15  4. jl;gntg;gepiy eltbf;if 
 A B C D 
a. 1 3 4 2 
b. 2 4 3 1 
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c. 2 4 1 3 
d.  3 1 2 4 
e. tpil njhpatpy;iy 

127. The World Development Report was released by  
a. International Development Association   
b. World Bank 
c. International Monetary Fund 
d. United Nation’s Development Programme 
e. Answer not known 
cyf tsu;r;rp mwpf;ifia ntspapLtJ. 
a. gd;dhl;L Nkk;ghl;Lf; fofk;  b. cyf tq;fp 
c. gd;dhl;L gz epjpak;   d. I.eh.tpd; Nkk;ghl;L jpl;lk; 
e. tpil njhpatpy;iy 
 

128. The first five year plan was launched on ___ 
a. January 1, 1950  b. January 1, 1951   c. April 1, 1950   
d. April 1, 1951  e. Answer not known 
Kjy; Ie;jhz;L jpl;lk; eilKiwf;F te;j ehs; ____. 
a. [dtup 1> 1950  b. [dtup 1> 1951   c. Vg;uy; 1> 1950   
d. Vg;uy; 1> 1951  e. tpil njhpatpy;iy   
 

129. Match the following 
A. Gandhian plan  1. 1944 
B. Peoples’ plan  2. 1950 
C. Bombay plan  3. 1944 
D. Sarvodaya plan  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. 1944 
B. kf;fs;jpl;lk;  2. 1950 
C. ghk;Ng jpl;lk;  3. 1944 
D. ru;Nthjah jpl;lk;  4. 1945 
 A B C D 
a.  1 2 4 3 
b. 1 4 3 2 
c. 1 3 4 2 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

130. Which of the following is/are correct? 
i. Democratic planning - “Planning from above” 
ii. Decentralized planning - “Planning from below” 
iii. Short term plans  - “Controlling plans” 
a. i, ii   b. ii, iii   c. i, iii   
d. i, ii, iii  e. Answer not known 
rhpahf nghUe;jpaijj; Nju;e;njL. 
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i. kf;fshl;rp jpl;lkply;  - “NkypUe;J jpl;lkply;” 
ii. gutyhf;fg;gl;l jpl;lkply; - “fPopUe;J jpl;lkply;” 
iii. FWfpa fhy jpl;lkply;  - “fl;Lg;gLj;Jk; jpl;lk;” 
a. i, ii   b. ii, iii   c. i, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 
 

131. Who is the first person developed mathematical equation in the quantity theory of 
money with the help of data? 
a. Karl Pearson   b. Irving Fisher  c. Francis Galton   
d. Ronald Fisher   e. Answer not known 
Kjd;Kjypy; gz msTf; Nfhl;ghl;Lr; rkd; ghl;bid Gs;sptptuq;fSld; tpsf;fpatu;? 
a. fhu;y; gpau;rd;   b. ,u;tpq; gp~u;  c. gpuhd;]p]; fhy;ld;  
d. nuhdhy;L gp~u;   e. tpil njhpatpy;iy 
 

132. The ministry of statistics and programme Implementation (MOSPI) came into existence 
as an Independent Ministry in ___. 
a. 1979  b. 1982 c. 1987  d. 1999 e. Answer not known 
Gs;spapay; kw;Wk; jpl;l mkyhf;f mikr;rfk; jdp mikg;ghf eilKiwg;gLj;jg;gl;l 
Mz;L ____. 
a. 1979  b. 1982 c. 1987  d. 1999 e. tpil njhpatpy;iy 
 

133. Which is responsible for coordination of statistical activities in the country? 
a. Central Statistical Office (CSO) 
b. National Statistical Office (NSO) 
c. National Sample Survey Office (NSSO) 
d. Ministry of Statistics and Programme Implementation (MOSPI) 
e. Answer not known 
ehL KOtjpYk; eilngWk; Gs;sptptu Nrfupg;Gfis xUq;fpizf;Fk; mikg;G vJ? 
a. kj;jpa Gs;spapay; fofk; 
b. Njrpa Gs;spapay; mYtyfk; 
c. Njrpa khjpup $nwLg;G tprhuiz mYtyfk; 
d. Gs;spapay; kw;Wk; jpl;l mkyhf;f mikr;rfk; 
e. tpil njhpatpy;iy 
 

134. Which of the following statements about NSSO is/are correct? 
i. It is the largest organisation in India, conducting regular socio-economic surveys. 
ii. It was established in 1950. 
iii. It has three divisions. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
Njrpa khjpup $nwLg;G tprhuiz mYtyfk; gw;wp rupahd $w;Wfs; vit? 
i. ,J r%f-nghUshjhu Gs;sptptu tprhuizfis Nkw;nfhs;Sk; ,e;jpahtpd; 

kpfg;ngupa mikg;G 
ii. 1950-y; epWtg;gl;lJ. 
iii. %d;W gpupTfs; nfhz;lJ. 
a. i, ii  b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 
 

135. Despite rise in food crop production in India, in recent years the eruption of Farmers' 
protests due to 

 a. High indebtedness   b. Failure of Monsoon 
 c. Depletion of natural resources  d. Increasing population 

e. Answer not known 
,e;jpahtpy; czT cw;gj;jp mjpfkhdhYk;> rkPgfhyj;jpy; tptrhapfs; Nghuhl;lj;jpy; 
<Lglf;fhuzkhf ,Ug;gJ  
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a. mjpf fld;gl;l epiy     b. gUtfhy kio nga;ahik  
c. ,aw;if tsq;fis mjpfk; gad;gLj;j  d. ngUfptUk; kf;fs; njhif  
e. tpil njhpatpy;iy 

136. Expenditure on defence, interest payments on public debt are 
 a. Development expenditure b.  Non-Development expenditure 
 c. Planned expenditure   d. Un-planned expenditure 

e. Answer not known 
,uhZtk; kw;Wk; nghJf; flDf;fhd tl;b nrYj;Jjy; ________ MFk;.  
a. tsh;r;rpf;fhdr; nryT   b. tsh;r;rpaw;wr; nryT  
c. jpl;lkpl;lr; nryT   d. jpl;lkplhr; nryT  
e. tpil njhpatpy;iy 
 

137. Match List I with List II and choose the correct answer by using the codes given below: 
List I      List II 
A. MRTP    1. Maintenance of foreign exchange  
B. FEMA    2. Promotion of industrial peace 
C. Industrial Disputes Act  3. Control of unfair trade practices 
D. Wealth Tax   4. Reducing the concentration of economic power 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 1 3 
d. 3 1 2 4 
e. Answer not known 
gl;bay; I kw;Wk; gl;bay; II-ia nghUj;Jf. 
gl;bay; I     gl;bay; II 
A. MRTP     1. me;epa nrythzpia guhkhpj;jy; 
B. FEMA     2. njhopy; mikjpia Cf;Ftpj;jy; 

C. njhopy; jfuhW rl;lk;  3. epahakw;w thzpg Kiwfis fl;Lg;gLj;Jjy; 
D. nry;t thp    4. nghUshjhu Mw;wy; nrwptpid Fiwj;jy; 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 2 4 1 3 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

138. Match the List I with List II  
List I    List II 
A. Mentor India 1. To promote innovation and entrepreneurship 
B. PMMVY  2. To provide banking and insurance services to rural the poor 
C. SBGY  3. For providing free LPG connections to women from BPL  

households 
D. PMUY  4. To improve pregnant women health 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 1 4 2 3 
d. 3 1 4 2 
e. Answer not known 
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gl;bay; I kw;Wk; gl;bay; II I nghUj;Jf : 
gl;bay; I  gl;bay; II 
A. Mentor India 1. njhopy; KidT kw;Wk; Gj;jhf;fj;ij Nkk;gLj;Jjy; 
B. PMMVY  2. fpuhkGw ViofSf;F tq;fp kw;Wk; fhg;gPl;L Nritfis mspj;jy; 
C. SBGY  3. BPL ,y;yq;fspypUe;J ,ytr LPG ,izg;gpid ngz;fSf;F  

toq;Fjy; 
D. PMUY  4. fUTw;w jha;khh;fspd; eyed Nkk;gLj;Jjy; 
 A B C D 
a. 4 3 2 1 
b. 2 4 3 1 
c. 1 4 2 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

139. Match: 
List I    List II 
A. GATT   1. Managing balance of Payments 
B. IMF    2. Development Finance 
C. IBRD   3. Free trade 
D. UNO   4. Maintenance of peace among nations 
  A B C D 
a.  2 1 4 3 
b.  3 1 2 4 
c.   2 3 1 4 
d.   4 1 3 2 
e. Answer not known 
nghUj;Jf 
gl;bay; I    gl;bay; II 
A. fhl;    1. nfhLg;gitfis rkepiyg;gLj;Jjy; 
B. I.vk;.vg;   2. tsu;r;rp epjp 
C. I.gp.Mh;.b   3. Rje;jpu tu;j;jfk; 
D. A.vd;.X   4. ehLfspilNa mikjpia NgZjy; 
  A B C D 
a.  2 1 4 3 
b.  3 1 2 4 
c.   2 3 1 4 
d.   4 1 3 2 
e. tpil njhpatpy;iy 
 

140. What is the term used to denote the coexistence of two different features in an economy? 
a. Technology  b. Dependency  c. Dualism     
d. Inequality   e. Answer not known 
,uz;L Kw;wpYk; NtWgl;l jd;ikfis njhlh;GgLj;jpf; Fwpg;gJ vt;thW 
Fwpg;gplg;gLfpwJ? 
a. El;gk;   b. rhu;e;jpUg;G   c. ,ul;ilj; jd;ik   
d. rkkpd;ik            e. tpil njupatpy;iy. 
 

141. Consider the following 
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Assertion (A) : Ramachandra Guha calls Kumarappa as “Green Gandhian”. 
Reason (R) : Kumarappa was the founder of modern environmentalism in India. 
 
a. (A) is true, (R) is false. 
b. Both (A) and (R) are true and (R) is the correct explanation to (A) 
c. (A) is false, (R) is true.  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,uhkr;re;jpu Ffh mth;fs; Fkug;ghit ‘gr;ir fhe;jp’ vd;W mioj;jhh;. 
fhuzk;(R): Fkug;gh ,e;jpahtpd; Rw;Wr; #oypay; Fwpj;J mbj;jskpl;lhh;. 
a. (A) rhp> Mdhy; (R) jtW.  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fk;. 
c. (A) jtW Mdhy; (R) rhp.  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R) vd;gJ (A)-tpw;F rhpahd tpsf;fky;y. 
e.  tpil njhpatpy;iy 
 

142. The functions of NITI are  
1. Decentralized Planning    2. Harmonization  
3. Capacity Building   4. External Consultancy  
Out of these, which are correct answers? 
a. (1) and (2)    b. (2) and (3)     c. (1) (2) and (3)    
d. (2) and (4)    e. Answer not known   
NITI - d; gzpfshtd 
1. gutyhf;fg;gl;l jpl;lk;   2. xj;jpirT  
3. jpwd; Nkk;ghL    4. ntspg;Gw MNyhrid  
a. (1) kw;Wk; (2)   b. (2) kw;Wk; (3)   c. (1) (2) kw;Wk; (3)    
d. (2) kw;Wk; (4)   e.  tpil njhpatpy;iy 
 

143. ‘NITI Aayog’ substituted Planning Commission was effect from 
a. January 1, 2015  b. February 2, 2015   c. January 5, 2018   
d. March 15, 2015  e. Answer not known 
jpl;lf;FOtpw;F khw;whf ‘epjp MNahf;’ eilKiwf;F te;jJ 
a. [dthp 1> 2015  b. gpg;uthp 2> 2015   c. [dthp 5> 2018  
d. khh;r; 15> 2015  e.  tpil njhpatpy;iy 
 

144. The Credit Authorisation  Scheme introduced by 
a. International Monetary Fund  b. Reserve Bank of India  
c. Commercial Bank    d. Exim Bank   
e. Answer not known 
fld; mq;fPfhu jpl;lj;ij mwpKfg;gLj;jpaJ vJ?  
a. gd;dhl;L gzepjp epWtdk;   b. ,e;jpa hprh;t; tq;fp  
c. tzpf tq;fp    d. vf;]pk; tq;fp   
e. tpil njhpatpy;iy 
 

145. Match the following: 
A. VAT   1. Multipoint tax with cascading effect 
B. GST   2. One point tax without cascading effect 
C. Sales Tax   3. Multipoint tax without cascading effect 
D. CGST   4. Collected by the Central Government for Interstate sale 
E. IGST   5. Collected by the Central Government on an intra-State sale 
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A B C D E 

a. 1 2 4 5 3 
b.  3 2 1 5 4 

 c. 4 3 1 2 5 
 d. 2 1 3 5 4 

e. Answer not known 
 gpd;tUgtdtw;iw nghUj;Jf: 
 A. VAT  1. mbj;js tpisTs;s gy;Kid thpahFk; 
 B. GST  2. mbj;js tpistpy;yhj xU Kid thpahFk; 
 C. tpw;gidthp 3. mbj;js tpistpy;yhj gy;Kid thpahFk; 
 D. CGST  4. khepy muRfSf;F ,ilNaahd tpw;gidapy;  

E. IGST  5. khepyj;jpw;Fs;Ns eilngWfpw tpw;gidapy; kj;jpa  
murhy; t#ypf;fg;gLtjhFk;   

A B C D E 
a. 1 2 4 5 3 
b.  3 2 1 5 4 

 c. 4 3 1 2 5 
 d. 2 1 3 5 4 

e. tpil njhpatpy;iy 
 
146. 93.04 : 92.04 is equal to  

a. 1 : 9  b. 3 : 2  c. 9 : 1   d. 76 : 51  e. Answer not known 
93.04 : 92.40 f;F rkkhdJ 
a. 1 : 9  b. 3 : 2  c. 9 : 1   d. 76 : 51  e. tpil njhpatpy;iy  

 
147. Find the 8th term of the G.P. 9, 3, 1,…  

a. 
1

27
   b. 

1

81
  c. 

1

243
  d. 

1

729
 e. Answer not known 

9, 3, 1,… vd;w ngUf;Fj; njhlh;thpirapd; 8-tJ cWg;igf; fhz;f. 

a. 
1

27
   b. 

1

81
  c. 

1

243
  d. 

1

729
 e. tpil njhpatpy;iy 

 
148. If 7 : 5 is in proportion to x : 25 then x is 

a. 3.5   b. 35    c. 53 
d. 27   e. Answer not known 
7 : 5  MdJ x : 25-f;F tpfpj rkk; vdpy; x-d; kjpg;G 
a. 3.5   b. 35    c. 53 
d. 27   e. tpil njhpatpy;iy 

 
149. If 13 + 23 + 33 +   + n3 = 36100, then find 1 + 2 + 3 +   + n 

a. 19   b. 36    c. 190   
d. 361   e. Answer not known 
13 + 23 + 33 +   + n3 = 36100 vdpy;> 1 + 2 + 3 +   + n-d; kjpg;igf; fhz;f 
a. 19   b. 36    c. 190     
d. 361   e. tpil njhpatpy;iy 
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150. If 136 is divided into two parts in such a way that a fifth of the first part and an eighth of 

the second part are in the ratio 2 : 3, then the first part is: 
a. 96   b. 40   c. 48  d. 72  e. Answer not known 
&.136 I ,UgFjpfshf gphpf;Fk; NghJ mjd; Kjy; gFjpapy; Ie;jpy; xU gFjpAk; 
,uz;lhk; gFjpapy; vl;by; xU gFjpAk; 2 : 3 vDk; tpfpjj;jpy; gphpf;fg;gLfpwJ vdpy; 
mjd; Kjy; gFjp ahJ? 
a. 96   b. 40   c. 48  d. 72  e. tpil njhpatpy;iy 

 


